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The following Table-I shows the sales (in ¥ crore) of Ice-cream in India during the six years from
2018 to 2023 and Table-II shows the percentage market share of various companies in the sale of
Icecream in the year 2020. Based on the data in the tables, answer the questions that follow.

Table-1 : Year-wise Sale Details of Ice-Cream (in ¥ Crore).

s Ice-Cream Sale
(in Crore)
2018 7500
2019 8200
2020 8500
2021 8000
2022 8500
2023 9500

Table-II : Company-wise Percentage Market share in the Ice-Cream Sale in 2020

Baskin

Company | Amul |Wadilal| . | Wama |Kwality | Others
: Robbins '

Percent Share| 28% | 13% 10% 6% | 35% 8%

Sub questions

Question Number : 1 Question Id : 53307218971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the sales of Amul and Warna in 2020 ? (in ¥ crore)
(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options:
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307218972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average annual rate of increase in the Ice-Cream sale in 2023 in comparison to the year
2018 ?

() 533 %

(2) 2667 %

(3) 6.67 %

4) 10%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307218973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the percentage market share of companies remains the same in 2021 as that in 2020, then what
is the increase/decrease in the turnover of Amul from 2020 to 2021 ?

()

(2) %140 crore decrease
(3)

(4)

< 175 crore increase

% 175 crore decrease
¥ 140 crore increase

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307218974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the sale of Wadilal increases by 38 % from 2020 to 2023, and the percent sale of other companies
accordingly stands reduced then what would be the market share of Wadilal in 2023 ?

1) 175%
Q) 18%

() 1694 %
() 1605 %

Options :
1.1
2.2
3.3



4.4

Question Number : 5 Question Id : 53307218975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The market share of companies in 2023 is same as in 2020. In 2024, the ice-cream sale increases by
10 % but the market share of Amul falls to 23 %. What is the percentage change in the turnover of
Amul from 2023 to 2024 ?

(1) 964 % increase
(2) 9.64 % decrease
(3) 17.86 % increase
(4) 17.86 % decrease

Options:
1.1
2.2
3.3
4.4

Question Id : 53307218970 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 53307218971 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 2020 § ST TR oA A farsht < s o1 SR foha1 (TFUS W) B2

(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options :
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307218972 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a 2018 F qoF H T4 2023 W MW W Fi Tkt # i et 9fig e €2
(1) 533 %

(2) 26.67 %
(3) 6.67 %
(4) 10 %
Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307218973 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307218974 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2020 9 2023 T AT 2 fohl H 38 % g B & IR 974 A 2 Woue fooh H g
9 &, @ ad 2003 % STl % A SR foe g

(1) 175%

2 18%
() 169 %
() 1605 %
Options :
1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307218975 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2023t 1 AT SR 7@ & W 2020 % e 2024 % w7 o # 10 % o 9 ¥ W
ST o TR S FTORA 23 % B ST 2 1 2023 2024 T St o BRI H ol oo e o & 7
(1) 964 %3

(2) 964 % FH

(3) 1786 % g

(4) 1786 % 7

Options :

1.1

2.2

3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 533072744
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 53307218976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of the cycle of self regulated learning in logical order ?
A) Setting goals
B) Regulating learning

D) Analysing the task
E) Devising plans
Choose the correct answet from the options given below :

0 E), (D) (B), (A) (©

(
(
(C) Enacting Tactics and Strategies
(
(

(2)  (B), (C), (E), (D), (A)
(3) (D) (A), E), (©) (B)
4) (A) (E), ©), (B), D)
Options

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307218976 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o -fafafiad SIferTy <15k o eI 1 dlfcheh ohH H ool i
(A) @& TAifa e

(B) aferm fafvafaa s

(C) fFar sir TorHifat T= #0m

(D) T7gd =/ = fagerao HE

(E) A IR AT

<= fou T faeredi § | W& S % =AA Hifod

(1) (E), (D), (B), (A), (C)

(2)  (B), (O (E), (D), (A)
(@) (D) (A), (E), (O (B)
(4) (A), (E), (Q), (B), (D)
Options :
1.1

2.2



3.3
4.4

Question Number : 7 Question Id : 53307218977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the content that we have previously learned interferes with the recall of something newly
learned then the interference is :

(1)  Retroactive Inhibition

(2) Proactive Inhibition

(3) Attention Inhibition

o

Response [nhibition

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307218977 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o TR B Vel v e o i < i v et o e fer el s € 9% S g
g

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307218978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Anna sits at her kitchen table and is able to think about what she needs to buy from the grocery
stores. She is using her ability to:

(I) Recognise
(2) Recite
(3)  Recall
( A

4)  Memorize

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307218978 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 ST T R B S TR e U e 2 ¢ 1 30 feR e A T S A e
T & | 9 A A 7 T fwfefen & fu @ g

(1) T

(2) g
(3) A
(4) FoWF
Options:
1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307218979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha Channel-11 with the theme of “Social Sciences and Humanities’
are provided by :

(1) CEC, New Delhi
(2) IGNOU, New Delhi
(3) T, Delhi

(4) T, Madras

Options :
1.1



2.2
3.3
4.4

Question Number : 9 Question Id : 53307218979 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 o7 - 11 %1 5 form iR sfo ' o @ e s frwrfi gm0 soere #E S

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307218980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a biology class, a teacher wants to conduct a formative assessment to gauge students
understanding of cell structure and function. Which of the following tools would be most effective
for creating interactive quizzes with immediate feedback ?

(A) Google forms

(B) Adobe [llustrator

(C) Kahoot

(D) Audacity

(E) Camtasia

Choose the correct answer from the options given below :
() (B), (C) and (E) Only

(2) (A), (©), (D) and (E) Only
(3) (A)and (C) Only

(4) (B), (D) and (E) Only
Options :

1.1

2.2



3.3
4.4

Question Number : 10 Question Id : 53307218980 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W9 faqm 1 T 1 W S, FE S W R g 5 6 A 6 6
fere Fmfomeees v 1 &1 e Wioge (reas:) Gfed Wom Harearet FHmfe & S 7 &
feu ffefian SH-11 SvE Fo® g9 2

(A) Tl

(B) T TR

) #E

(D) el (efae)

(E) Wl

e feu o ot W @ W@ I A T e
(1) %A (B), (C) R (E)
(2) 9 (A), (C), (D) 4R (E)
(3) A (A) IR (C)

(4) (B, (D) 3 (B
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307218981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represents the epistemological orientation of qualitative research ?
(1) Deductivism

(2) Positivism

(3)  Objectivism

(4) Interpretivism

Options :
1.1
2.2



3.3
4.4

Question Number : 11 Question Id : 53307218981 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefa & § SF ToTeTE e & FEEEERE Afifem e w g2

(1) e

(2) HHHAS

(3) famafear
(4) SAEAER

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307218982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In many studies that span along period of time, participants in the study may leave. This constitutes
which of the following threats to internal validity ?

(I) Testing

(2) Instrumentation
(3) Mortality

(4) Maturation
Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307218982 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T o aer o W wee ol 3R R oo o wevrh ol W § 1 %R ol v ¥ ot
fepetfefim @ #19- Wfaw §7

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307218983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following nformation about a research article, according to the

APA style of writing journal article references.

(A) Volume number

(B) Year of publication

(C) DOL

(D) Title of article

(E) Name of journal

Choose the correct answer from the options given below :

M) (©) (D) (B) (A) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307218983 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i o fere 1 T e % SR, 9 o & R H ffafed SRR % T8 6 wEE
(A) HEHEA

(B) TV A

(C) & o

(D) @ 1 wivF

(E) e & AW

A fou U ferhedl o | W 3 A T
() (©), (D), (B), (A), (E

) (®) (D) (E) (A) (©
() D) (E) (), (B) (©
(4) D) (&) (), (A), (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 53307218984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the continuous variables.
(A) Number of tails obtained in hundred tosses of a coin

(B) Weight of students in a school

(C) Marks scored by students in an objective type examination
(D) Height of plants in an agricultural field

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options:

1.1

2.2

3.3

4.4



Question Number : 14 Question Id : 53307218984 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qad =7 1 JedH S

(A) Tordl TR 1 T 91 R 380! SH 9 9T 92 hl SE&AT
(B) Tordt fagarem # fagafdi &1 o=

(C) =M YR =i THian | fagafedi & i
(D) WdraEt ot ot B o dtel o S

= feu v fasedi § 9 We ST 1 =999 Fife
(1) <9 (A) 3R (B)

(2) %= (C) ¥R (D)

(3) FE (A) IR ()

(4) 9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 53307218985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the non-parametric tests used in statistical arlal}rsis.
(A) Chi-square test

(B) U-test
(C) H-test
(D) t-test

Choose the correct answer from the options given below :
(I) (A) and (B) Only
(2) (B) and (C) Only
(3) (©) and (D) Only
)

(4) (A) and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 15 Question Id : 53307218985 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gifersa faverao § ygaa sTam=rel 9iervi 1 qe=H Fifer ;
(A) HE - A GHE

(B) ¥ - &
(C) TH - e
(D) & - Tdiem

= feu U fawed °§ 9 WEr 3 =9 FH I
(1) ad (A) 3R (B)

(2) haa (B) R (C)
(3) A (C) 3R (D)
(4) FaA (A) 3R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 53307218986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A cartoon is of :

(1) High definition
(2) Low definition
(3) Neutral definition

(4) Negative definition

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307218986 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Bl €

(1) = gl I

) T e

(3) HEAH Tl

) FTRUCHE Tl

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307218987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period of time when a communication network becomes inoperative, is referred to as :
(1)  Time fit

2
3
4

(2) Uptime
(3) Downtime
(4) Loadtime
Options:
1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307218987 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

grarafy foad §9r Jeas faferg 8 5 & 59 9efia 9 © -

(1) =rEm e
(2) 9 <I=H
(3) SIS drgH
(4) S A

Options:

1.1

2.2

3.3



4.4

Question Number : 18 Question Id : 53307218988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following concepts are related to mass communication ?
(A) Global village

(B) Medium is the message

(C) The extension of man

(D) Pop culture prophet

Choose the correct answer from the options given below :

(1) (A), (D) Only

(2)  (A), (B) and (C) Only

(3)  (B), (C) and (D) Only

(4) (A)and (B) Only

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 53307218988 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafes § 9 4 O GFeqad 1 99R ¥ Gefed 8 ?

(A) dIfvees am
(B) WA T
(C) WHd for

(D) T HERid ol el
= feu U faspedi H § W& 3T & =9 HITaT
(1) Fad (A), (D)

(2) %9 (A), (B) TR (C)
(3) %9 (B), (C) ¥R (D)
(4) FAA (A) SR (B)
Options :

1.1



2.2
3.3
4.4

Question Number : 19 Question Id : 53307218989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As a mode of communication, drama has four forms from the western perspective. They are :
(A) Tragedy

(B) Comedy

(C) Serious drama
(D) Melodrama

(E) Character drama

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only

(2)  (B), (C), (E) Only
(3) (A)(C), (D), () Only
(4)  (A), (B), (D), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307218989 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR goretl % &9 H, ufyeed g  eE FER R g9 €
(A) Sl

(B) WeEA

(C) TR Ae®

(D) =fd e

(E) =Rk Ak

i< feu T fashedi H | Wa 3L 1 TG HifeU
(1) = (A), (B), (O), (D)

(2) = (B), (O), (E)

(3) @ (A), (O), (D), (B)

(4) = (A), (B), (D), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 53307218990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the correct ch_rnnnlngica] sequence of the fn]lnwing 3
(A) Launch of Twitter

(B) Launch of Facebook

(C) Appearance of social network sites
(D) Launch of Spuinik

(E) “War of the worlds’ broadcast

Choose the correct answer from the Dptinns given below :

(L) (A) (©), (B), (E), (D)

2 (B), (D), (C), (B), (A)
(3)  (B), (B), (D), (A), (C)
4) (©), (B), (A), (D), (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 20 Question Id : 53307218990 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea =1 9t FeArshHe el i o Y
(A) T2oeX &1 Ry

(B) THHEH H HRH
(C) IfSre =Zerk g2y =1 SAffavie
(D) TIATTF SR

i

(E) '9R 1% &1 doed’ dieHe

e feu U faspedl O ¥ W& 39 F 9949 Hifo
(1) (A) (©), (B), (E), (D)

@ (E), (D) (©), (B), (A)

(3) (B), (E). (D), (A), (C)

4) (©), (B), (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307218991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 15 %, 20 % and 40 % on the marked price of an item are equivalent
to a single discount of :

) 5%

) 408 %
) 592 %
) 675 %



Question Number : 21 Question Id : 53307218991 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereil o o Sifohd Ted T AR FHIE T2 15 %, 20 % T 40 % o FHHH Thet 922 7
1) 7%

() 408 %
(3) 59.2 %
(4) 67.5%
Options :
1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 53307218992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 men working 8 hours per day complete a piece of work in 18 days. To complete the same work
in 6 days, working 12 hours a day, the number of men required will be :
) 24 men
) 26 men
3) 28 men
) 30 men
Options :
1.1
2.2

3.3
4.4

Question Number : 22 Question Id : 53307218992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 ST fafeet 8 e % ek 18 ol & 0 W 0 0 1 3H AW A 6 fe § e F fow yfeen
12 %21 %W T, ot SR 1 vl g ?

(1) 24 il 3

(2) 26 SRfl A

(3) 28 Sl &l

(4) 30 smwh Al

Options :



1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307218993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the series.....
275, 7Y7, 14X9, 23W11, 34V13, (?7)

(1) 27024
(2) 45U15
(3) 47U15
(4) 47U14
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307218993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 sj@ren # 3Ter 9 3 e
275, 7Y7, 14X9, 23W11, 34V13, (?)
(1) 27024
(2) 45U15
(3) 47U15
(4) 47014
Options :
1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307218994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word "TREND’ is coded as ‘QUBQA’, then the word ‘STRAY’
will be coded as.

() PVPDV

(2) PWPDW

(3) PWODV

(4) QWPEW

=y

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307218994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U (i Feerad o W, c ‘TREND' #1'QUBQA’ § {2 feral W1 &, 7 Wc 'STRAY' #1 92
caf

() PVPDV

() PWPDW
(3) PWODV
() QWPEW
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307218995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person travels from X to Y at a speed of 30 km/hr and returns from Y to X by increasing his
speed by 50%. His average speed during the journey is :

(1) 375 km/hr

(2) 37 km/hr

(3) 36 km/hr

(4) 38 km/hr

Options :
1.1
2.2



3.3
4.4

Question Number : 25 Question Id : 53307218995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e 30 fope,/sien 1 fa B X Y 9 A T € R 50% At v F Y W X 7 g o |
1 o SR Sh Sir Il P e 2

(1) 375 ot o
(2) 37 ol /d
(3) 36 foll. /4
(4) 36 foll. /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307218996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the fallacy committed in the statement given below :

“People who lack arrogance are intelligent because intelligent people do not have arrogance”
(1) Equivocation

(2) Fallacy of division
(3
(

)
) Begging the question
g

Fa]la.c;yF of composilion

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307218996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



friferfaa o § aehe & TeEE
o T H SR T B, o SfgHE I © TR SfHA el W SRR el el |
1) SR

(

(2) farEdm
(3) e 3y
(4) Hefadm
Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307218997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contrary to the proposition. “All cows are herbivores” ?

(1) All herbivores are cows.

3
4)  No cows are herbivores.

2)  Some cows are herbivores.
) Some cows are not herbivores.

(
(
(

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307218997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freforfea # | S ot giaafa fF et 7 wermert St €' = s €2
1) |t IR T €

2) Tl T ST B € |

3) T M IEER T B ¢ |

4) I TT YRR T A )

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 28 Question Id : 53307218998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) All cows are herbivores.

(B) All herbivores are cows.

(C) Some herbivores are cows.

(D) No cows are non-herbivores.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (D) Only

(3) (B) and (Q) Only
4) (A) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 28 Question Id : 53307218998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafad & & -8 Hu difdhes gfte & THqe §2
(A)  [off T wITeRTRTY e € |

(B) Wl MRS T4 =ld 2 |

(C) o IMFTERT T B 2 |

(D) T2 A TR eRE e ol ¢ |

=1 feu 1o faskedi § ¥ W I & =99 Hifad
(1) <9 (A) 3R (B)

(2) I (B) $R (D)

(3) = (B) 3R (Q)

(4) A (A) #R (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307218999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions cannot both be false, though they can both be true ?
(A) All cows are herbivores,

(B) No cows are herbivores.

(C) Some cows are herbivores.

(D) Some cows are not herbivores.

Choose the correct answer from the options given below :

(1) (A)and (D) Only

@ (0 and (D) Only
(3) (B) and (C) Only
@

4) (A)and (C) Only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307218999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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( ) SR (D
(3) ) ¥ (C
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(
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(
(4)

EREI

1

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307219000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to dlassical Indian Philosophy the source of knowledge based on cognition of an object,
similar to another one which is already known to the cognizer is known as :

(1) Sabda

(2) Pratyaksa
(3) Anumina
(

4)  Upamana

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307219000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307219001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the fourth generation
electronic computer ?

(1) Transistor based

(2) Integrated Circuit (IC) based

(3)  Vacuum Tube based

(4)  Microprocessor based

Options:
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307219001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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WEEERE R

Options :
1.1



2.2
3.3
4.4

Question Number : 32 Question Id : 53307219002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Many websites require the following to be completed :

Ll 'm not a robot.

This is an example of which data issue ?
(1) Accuracy

(2) Matching

(3) Quality

(4) Security

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307219002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3k derdErsel W = @ gu fee S o sevgedl B ©

Ll I'm not a robot.

I8 <21 HeHl %A H 78 1 I3 & 2

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307219003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

is small amount of memory located on the CPU itself.
_____ is a form of ROM that is commonly used in embedded devices such as washing
machines, smart phones, etc. 15 mainly used in a PC to store the tiny OS called the
BIOS. is a storage allocation scheme in which secondary memory can be addressed as
though it were part of the main memory. is a type of very fast memory that is used to
temporarily hold data about currently running programs.
(A) ROM
(B) RAM
(C
(D
(E)  Virtual memory
Choose the correct answer from the options given below :
(1) @) © (4) E) B
2) (© (D) (A), () (B)
3) (©, (D) (B), (E), (A)
4) () (D) (4), ), (E)

) Cache memory
)

Flash memory

{
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307219003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307219004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If (L)y; represents a number L in base-M number system, then which of the following numbers are
equivalent to (19),, ?

(A) (11001),

(B) (201)5

(€ (121),

(D) (1015

E) D)y

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(2) (B) and (D) Only

() (A) () and (D) Only
() (A),(B) (C), (D) and (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307219004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfesTem-M el vt # (L), § LA <o & 9 1 § | 91 5 e (19),, % T §7
(A) (11001),

(B) (201),

(C) (121),

(D) (101,

E) (B)

el feu o fomredi & 9@ W SR A T FHC
1) (A), (C) IR (B)

) % (B) R (D)

3) % (A), B) (D)

4 (A),(B) () D) I E

—— e g—

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307219005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - 11
(Computer Terms) (Purpose)
(A) Motherboard (I Stores the date, time and system configuration for BIOS
(B) BIOS (I)  Allows processor and other hardware to function and
communicate with each other
(€) CMOS (IT) Transfer the contents of web pages into a web browser for
viewing
(D) HITP (IV) Initializes and tests the system hardware components and

loads an OS5 when a computer is turned on
Choose the correct answer from the options given below :
() (A, B, (CHIV), (HIL)
2)  (A){I), (B}IV), (CH), (DHI)
3) (A}, (B)-(V), (C)-(1), (D(II)
) (A

) (V) (BHI, CHID, (1)

@ |
@
@
Options :
1.1
2.2
3.3

4.4

Question Number : 35 Question Id : 53307219005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A, B)-(), (OHIV), (D)

(@) (A, (B)-{V), (CHD), D))

() (AHI, B)-(IV), (C)-{D), (D)

(4)  (AHIV), (B)-(IL), (CHI, (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 36 Question Id : 53307219006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Kyoto protocol, how much target was fixed for the reduction of concentration of Green House
Gases (GHGs) below 1990 level, during first commitment period 2008-12 by state parties ?

(1) 10°%
Q) 52%
() 104 %
) 200°%

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307219006 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

e ovTcr %0 e g e et e et 2008-12 % SR 9 e i (GHGs) % e &
1990 %R § &9 11 1 oy @ fwifa fovn o2
() 10%

2 52%

(3) 104 %

(&) 200 %

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307219007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are biogas ?

(A) Marsh Gas

(B) Swamp Gas

(C) Producer Gas

(D) Compost Gas

(E) Flue Gas

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2) (B), (€) and (E) Only
(3)  (A), (C) and (E) Only
(4) (©), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307219007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafaa & & # awEg 2
(A) HE "

(B) @ ig

(C) W TE

(D) HIE TH

(E) W™

= feu U foeredi § 9 Wer SO &1 =949 Hi
(1) de (A), (B) &R (D)
(2) e (B), (C) IR (E)
(3) FaA (A), (C) R (E)
(4) %= (C), (D) ¥R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307219008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered to be the finest particulate matter ?
(I) Fine mode particles

(2) Neucleation mode particles

(3) Aitken mode particles

(4)  Accumulation mode particles

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307219008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) A (gaH) Hie afésay

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307219009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the fullnw'mg 15 an Example of natural climate fnrcing ?
(1) Green House Gases

(2) Volcanic erruptions
(3) Land use changes

(4) Tropospheric aerosols
Options:

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307219009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 219 T WFfas a9 9617 F1 UF e © 2
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4.4

Question Number : 40 Question Id : 53307219010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Pyrolysis ?

(A) It produces less air pollution than complete incineration.

(B) It is done in the presence of oxygen.

(C) Instead of oxidation a complex series of decomposition and other chemical reactions take
place.

(D) Pyrolysis many times generates useful materials.

(E)  Pyrolysis is a high temperature thermal process, an alternative to incineration,

Choose the correct answer from the options given below :

() (4)(B)(C)and (D) Only

) (A) (0) () and (E) Orly

() (B), (C), () and (E) Only

(4) (A), (B) and (E) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307219010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(B) 7% e o Iuferta W o e €
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13 fow T forrel 9 R R 9 T
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() % () (C), (D) ¥R (B
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(4) 9 (A), (B) M (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 53307219011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first foreign university to set up its campus at GIFT City, Gujarat, is :
(1) London University, Britain

(2) Queen’s University, Ireland

(3) Deak in University, Australia

(4) Moscow University, Russia

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307219011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) e fovafaaed (FFameer), fae

(2) F forfemme, faed
(3) i foveifommer, smefem
(4) Wi fovfommerd, 9
Options :

1.1

2.2

3.3

4.4

Question Number : 42 Question Id : 53307219012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy 2020 recommended moving towards.
(1) Suburban Universities

(2) Single discipline Universities

(3) Multi-disciplinary Universities

(4) Specialised Universities

Options:

1.1

2.2

3.3
4.4

Question Number : 42 Question Id : 53307219012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T foen Aifa, 2020 # fFAefafea = fom o o ae7 =1 fowf #31w oF
(1) IFRE foyafaemTa

(2) UeFe-foug oot favafaered
(3) wg-foudt favafaemaa
(4) oo favafemmera
Options :
1.1
2.2

3.3



4.4

Question Number : 43 Question Id : 53307219013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the public sector universities from the following that have the highest number of
collaboration with foreign universities.

(A) Indian Institute of Technology, Kanpur

(B) Indian Institute of Science, Bengaluru

(C) Pondicherry University, Pondicherry

(D) North-Eastern Hill University, Shillong

(E) Gujarat Vidyapeeth, Gujarat

Choose the correct answer from the options given below :
() () (8)(0 Oy

@ (B)(C) (D) Only
() (©) (D) (E) Only
(#) () (D) (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 53307219013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 53307219014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following come under the category of stand-alone professional universities ?
) Universities of Journalism
B) Law Universities
) Health Science Universities
) Technical Universities
) Homeopathy Universities

(A
(B)
(€
(D
E

Choose the correct answer from the options given below :
() (A); (B), (C) Only

() (A), (B), (D) Only

(3) (C),- (D), (E) Only

(4) (), (C), (D) Only

Options :

1.1
2.2



3.3
4.4

Question Number : 44 Question Id : 53307219014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307219015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - 1
(Commission/Committee)

) University Education Commission (1948-49)
Sanskrit Commission

(A
(B)
(C) Education Commission (1964-66)
D)

(1954)

Committee on Higher Education for Rural Areas

List - II
(Chairperson)

() D.S. Kothari

(I) K. L. Shirmali

(L) S. Radhakrishna

(IV) Suniti Kumar Chatterji

Choose the correct answer from the Dptiuns given below :

(1) (A0, (BH), (C)-(ID), (D)-IV)
(2) (A, B)-(), (©)-IV), (D)-0)
() (A)-(I), BIIV), (CHD), (DHI)
(@) AHLV), (BHD), (C-(I), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307219015 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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(D) (AHD, B)-(), (©)-(IL), (D)-(V)

(2)  (AHI), B)-UD, ©-1V), (D)-0)
(3)  (A)-(I), (B)LV), (C)-(I), (D)-(I)
4 (AHIV), B)-(D), (C(I), (DHII)
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1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072745
Question Shuffling Allowed : No

Question Id : 53307219016 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions given below :

Santiniketan attempted to produce a culture, which was Bengali/Indian in its construction and
approach yet significant to the modern world. In 1912, Rabindranath established an institution called
Ashram-Sammilani. It was a body of elected students with teachers in-charge to look after the functioning
of the school. Students” Unions are primarily concerned with student interest; they-or any other union,
for that matter-are formed to protect their rights against the authority’s misuse of power, There was a
court run by the elected student body. Whenever there was a complaint of any serious offence, the court
had its session with the accused in some quiet place after dinner. The Sammilani met twice a month-
once on new-moon nights, the other on full-moon nights. During Rabindranath’s long stay at Silaidaha
among the villagers he realised that only sel[—suﬂiciency, self-rule and self-respect could free our rural
population from their weakness, poverty and sense of inferiority; that it was society that should rule, not
the state imported from Europe, Srinikefan-Visva-Bharati's rural development,/ reconstruction programme
started in 1922, Rabindranath applied the principles of the co-operative movement to Sriniketan; and as
we know he applied it everywhere-equal respect for everybody, equal participation, equal distribution
of material and spiritual wealth,

Sub questions

Question Number : 46 Question Id : 53307219017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Main aim of Santiniketan can be stated as :

(1) To spread the culture of Kolkata

(2) To completely ignore the western influences

(3) To emphasize on a culture that was Bengali/Indian yet significant to the modern world
(4)  To focus only on the traditional folk culture

Options :
1.1
2.2
3.3



4.4

Question Number : 47 Question Id : 53307219018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aim of Ashram-Sammilani was :

(I)  To function as a typical student union

(2) To talk about the student’s rights

(3) To look after the functioning of the school with a body of elected students and teachers
in-charge

(4)  To manage the financial situation of the institution

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307219019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How often did the Ashram-Sammilani meet ?
(1) Once a year

(2) Twice a month
(3) Weekly

(4) Monthly
Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307219020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did Rabindranath Tagore realize while he stayed in Silaidaha ?
(1) Only education can uplift the society.

2)  Society should rule, not the state imported from Europe.

3

4) Traditional model of governance is the best approach.

) Industrialization is the major key to prosperity.

(
(
(

Options :
1.1



2.2
3.3
4.4

Question Number : 50 Question Id : 53307219021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What principles did Rabindranath Tagore apply to Sriniketan’s rural development program ?
(1) Centralized governance

(2) Industrial growth

(3)  Equal respect, participation and distribution of wealth

(4)  Personal growth over community welfare

Options :
1.1
2.2
3.3
4.4

Question Id : 53307219016 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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— Tt 1 o o AT e 1922 % TR g Ty A AR § GRR efen o
fergl 1 S fren; S ST 3 2 TR €, 32 W SR o o T TR, T Seerd, sifeck &
o SPAT 1 SA formeul-er e A

Sub questions

Question Number : 46 Question Id : 53307219017 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Wi 1 @A i el 1 Wehell ¢ -

(1) hiceRT i GHTd  ToR F

) UEI TET B W SRR

3) U U Gl W AE o @ e e 2 R o snefe fava & fo wewee &
) WY @ ST WA S H B

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307219018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
S9W - W 1 3299 o017
) Wl BEEE & B H FE
2) B % AR F 9 H a6 FA
) Traifea BB SR 99 el o e & @y faemed & 1 # a5
4) oE # o fegfa o1 yeeA W

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307219019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sgw AfFET F S3E a9 g o ?
(1) =4 H TH IR

(2) TEH TR

(3) wrfesh

(4) \If9EH

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 53307219020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

facTrrge W 109 Werd & SR TeiEe | = weqd o ?
(1) foen | & gurst &1 Zeu 8 9 ¢

(2) HEN 1 ATEA S =1feq 7 foF 79 § aymEiad I |
3) ieifertmta ggfs #t 7@ e

(4) ITEA 1 WO Hiee IS IINTH 2|

—

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307219021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SR A ke % e foerg s | o fagial @ s fem o2

)
3)  HHM S, WRiER! SR O 1 fem
) HIHEIE FHeA o WH W S foer

Options:
1.1
2.2
3.3
4.4

Philosophy
Section Id : 533072250
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072746
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307219022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in ascending order of certainty in accordance with Locke’s view of
knowledge :

A) Natural science

B) Sensitive knowledge

C) Deductions or demonstrations

D) Intuition

Choose the correct answer from the options given below :

D) @) (©) [0) &)

(
(
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307219022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



cifF 3 T % g 3 g Feeian ) fiftea % o) 39 1 w7afiom A

(A) efit frmm (e 59)
(B) 3fes I
(C) e = fFrevi
(D) &9
e feu v foredi o § W& I F =9 Ff90
() (B), (C) (D), (A)
(2) (D) (©), (B). (A)
(3) () (B), (©) (D)
(4) (A) ©), (D) (B)
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307219023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following thinkers advocates the view that for philosophy to be a rigorous science

it must return to what is given in experience in its generality prior to all theorizing and

interpretation ?

(I)  Berkeley

(2) Husser]
(3) Descartes
(4) Hume
Options:
1.1

2.2

3.3

4.4

Question Number : 52 Question Id : 53307219023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fetfctfa  § A § feideh 30 7 % YR € o S 1 7 Few femm o ¢ o Wl e aun
¢l forem 9 vl 38 ST R  WET SR AR e am

(1) ¥
Q
(3) <HR
() T

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307219024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Imistrust all systematizers and avoid them, The will to a system is a lack of integrity.” This view
can be attributed to which of the following thinkers ?

(1) Nietzsche

(2) Husserl

(3)  Descartes

(

4)  Hume

Options:
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307219024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 ) TR T ST T oo ST o 7| el 3 9 Wi seomi wete A avE
7 S %1 43 i W 9 o feiceh ol <1 87

(1)

Q T

(3)

(4) =H

Options :



1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307219025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - 1 List - II
Thinker Text
(A) Hegel (I) Logical Investigations
(B) Husserl (II) On Certainty
(C) Wittgenstein (IIll) Principia Mathematica
(D) Russell (IV) The Phenomenology of Spirit

Choose the correct answer from the options given below :
(1)  (A)-1V), (B)-(1I), (CO)-(I), (D)-(III)
(2) (A, (B)-(IV), (O)-(I), (D)-(II)
@) (A)-D), (B-(IV), (C)-(I), (D)-(IL)
4) (A)-(IV), (B)-(I), (C)-(II), (D)-(II)

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307219025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

Tl-1 -1
o BB
(A) T 1) e s
(B) T ) o7 T
(€) fai==rA (1) fordifoen femfes
(D) Wa (IV) & FAmArerst % fofte

= feu 7o fasredi § 9 98 39 1 =94 Fife
(1)  (A)IV), (B)-(1D), (O)-(1), (D)~(1L)
(2) (A, (B)-(IV), (O)I), (D)~(II)
(3)  (A)-(D), (B)}-(IV), (C)-(1I), (D)~(I1IL)
4) (A)-(IV), (B)-(I), (C)-(L), (D)~(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307219026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following beliefs are challenged by Hume ?

(A) Existence of Causation

(B) Ratomality of Induction

(C) Existence of the External World

(D) Existence of a Permanent Self

(E) The distinction between simple and complex ideas

Choose the correct answer from the options given below :

(1) (A), (B), (Q) (D) only

(2)  (A) (B), (C), (D), (E) only
(3)  (A), (B), (D), (E) only

(4) (B), (©), (D), (E) only
Options :

1.1

2.2



3.3
4.4

Question Number : 55 Question Id : 53307219026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freifera & 9 foe orransti &1 ggm = g <1 ® 2
(A) FIOE k1 AR

(B) SATTHA I ok dfgarfad

(C) el SITd =hT e

(D) T 3R 1 AR

(E) W« Ug gfmyg gerdi & 9 4

9 feu U forredi # | W&l I 1 = HifwIT
(1) A (A), (B), (O), (D)

(2) =E (A), (B), (O), (D), (B)

(3) < (A), (B), (D), (E)

(4) %= (B), (O), (D), (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 56 Question Id : 53307219027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following form the main concerns of Logical Positivists ?
(A) The Unity of Science

(B) Refutation of Naturalism

(C) Refutation of Reason

(D) The Elimination of Metaphysics

Choose the correct answer from the options given below :

(1) (B) and (C) only

(2) (A)and (D) only
3 (A) (B),(©), (D)
(4) (A), (B) and (D) only



Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307219027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dfeher geaeranfedl =1 g e fefafaa o 9 6 ffda & €2
(A) fo=m =i uFa

(B) W&hfdare @ Wed

(C) dehdafg 1 @ed

(D) daHmIE o A

< feu U foskedi # € W& SO 1 99 Fif9Q

(1) %A (B) 3R (C)

(2) A (A) SR (D)

3) (A, (B), (O) (D)

(4) 9 (A), (B) 3R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307219028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following principles are propounded by Leibniz ?
(A) The principle of non-contradiction

(B) The identity of indiscernibles

(C) The principle of sufficient reason

(D) The principle of perfection

Choose the correct answer from the options given below :
(I) (B) and (C) only

(2)  (B), (C) and (D) only

(3) (A), (B) and (C) only

4) (A), (B), (O) (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 53307219028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfarfiaa & § o fagidl & wfaores emfe 3 fFm €2
(A) 37eATENd & fEgid

(B) afaysi &1 AReHd

(C) TalE &g 1 fagia

(D) e =1 fagia

== Teu 7T forkedi # € W& IO Il =TI HifIQ
(1) 9 (B) 3R (Q)

(2) %= (B), (C) 3 (D)

(3) A (A), (B) &R (C)

4 (A), (B), (), (D)

Options:

1.1

2.2

3.3
4.4



Question Number : 58 Question Id : 53307219029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following texts in chronological order :
(A) Critique of Pure Reason

(B) Philosophical Investigations

(C) Philosophy and the Mirror of Nature

(D) Discourse on Method

Choose the correct answer from the options given below :
(1) (D) (A), (B), (O

(2) (D) (B), (A), (©

(3) (A), (D), (B), (C)

(4) (B), (Q), (D), (A)

Options :

1.1

2.2

3.3

4.4

Question Number : 58 Question Id : 53307219029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAfefEa Tl 1 AR | Hareed FHifag
(A) ToReTF STF AR o

(B) Trardiftrere s=fzTery

(C) Tralraw U g fA i 9=

(D) fewrH =114 HYs

i feu T fospedi # ¥ We SO% 1 =9 S
(1 D) (A) (B), ©

(2) (D) (B), (A), (©

(3) (A), (D), (B), (©

4 (B, (©) (D), (A)

Options :
1.1
2.2
3.3
4.4



Question Number : 59 Question Id : 53307219030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - 11
Concepts/theory School of thought
(A) Adrsta (I) Nyaya

(B) Pramana Vyavastha (lI) Jainism

(C) Pramana Samplava  (III) Buddhism

(D) Nayavida (IV) Mimérhsa

Choose the correct answer from the options given below :

(L) (A1), (B)-(IV), (CO)-(D), (D)-(1II)

(2)  (A)-(IL), (B)~(IV), (C)-(I), (D)-(IT)
(3)  (A)-(1V), (B, (O)-(L), (D)-(I)
(4)  (A)-(I1V), (B)-(IID), (C)~(ID), (D)-(1)
Options :

1.1

2.2

3.3

4.4

Question Number : 59 Question Id : 53307219030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

Tl-1 -1
Hereu/fagia faem-gvera
(A) ¥1g%= @ =
(B)  THTUT e (1) ST
(C) WHIIT Hrete (111) srgHd
(D) THaTg (IV) HwE

= feu 7o fasredi § 9 98 39 1 =94 Fife
(1) (A1), (B)-(IV), (O)-(1), (D)~(1L)
(2) (A, (B)-(IV), (O)1), (D)~(II)
(3)  (A)-(LV), (B)~(ID), (O)(1), (D)~(IL)
(4)  (A)-(IV), (B)-(LI), (O)A1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307219031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following schools of classical Indian philosophy accepts fruitful activity
(arthakriyakiritva) as test of validity of cognition.

(A) Buddhism

(B) Mimarsa

(C) Nyiya

(D) Advaita

Choose the correct answer from the options given below :
(I) (A)and (C) only

(2) (B) and (D) only

(3) (A)and (D) only

) (A) (B)and (C)only

Options :

1.1

2.2

3
4



3.3
4.4

Question Number : 60 Question Id : 53307219031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frreferfia o § @ B T R 9 W6 TR o o & wem & w0 (i) # wen
&)

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307219032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The philosophical view of accidentalism (yadrechavida) is attributed to which of the following
schools of Indian philosophy ?

(I) Nyaya

(2) Simkhya
(3)  Buddhism
(4) Carvika

Options :
1.1
2.2
3.3



4.4

Question Number : 61 Question Id : 53307219032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ORI (o3 & WG g & 4 Frerfofan & 9 form e o dvem =
¢

1
2)
3)
)

%%’3%

1

— e

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307219033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following schools of Classical Indian Philosophy maintains that soul can be as big ot
as small as the body it occupies ?

) Jaina

) Miminmsa
) Visistadvaita
4) Carvika

Options:
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307219033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Feeifcfes W § o T ST SGTA o1 7R ¢ fo e fore 90 1 00 el &, 31 ) 41 3
I B A

1)
Q)
(3) fafrerg
(4) e
Options :
1.1

2.2

3.3
4.4

Question Number : 63 Question Id : 53307219034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following schools of Classical Indian Philosophy does not distinguish between the
process of cognition and the result of cognition ?

(1) Prabhikara Mimérms

(2) Visistadvaita

(3) Madhva Vedanta
()

.....

4

Options:
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307219034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & | W T TG SR6 O T9eE T B I AR S9E & TR0 & 9 9 T E
g7

(1) mwnimm
() foferg
3
(4

)éam
IGELE

Options :



1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307219035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For which of the following schools of Classical Indian Philosophy hearing a word as a sound is
perception and knowing its meaning is inference ?

(I) Nyiya

(2) Visistadvaita

(3) Buddhism

(4)  Bhitta Mimarhsa

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307219035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fewfeif & 3 form Tl e ¥ H9R o ST o 3 &9 5 fod W A o e & 9
el ) T A &

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307219036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Classical Indian Schools of thought Theory of Error
(A) Pribhikara Mimirnsa (I)  Anyathakhyiti
(B) Vijhanavada (I)  Akhyati
(C) Nyiya (I) Satkhyati
(D) Visistadvaita (IV) Atmakhyiti

Choose the correct answer from the options given below :
(1)  (A)-(1D), (B)-1), (O)-(IV), (D)~(I)

(2) (A1), (B)-(IV), (C)-(I), (D)-(I)
(3) (A1), (B)-(IV), (O)-(1), (D)-(II)
(4) (A, (B)-(D), (CO-(IV), (D)}-(I)
Options :

1.1

2.2

3.3

4.4

Question Number : 65 Question Id : 53307219036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs
Tei-1 THt-11
( W ST W WU ) (et fagia)
(A) HTHERT HHE () YA
(B) faamemg (I1) =7
(C) =4 (1) FEAT
(D) fafyrera (IV) TeeEfa

= feu e faredi § © 9E 39 &1 =94 FH9
(1) (A1), (B)-(I), (O)(1V), (D)-(IL)
(2)  (A)1D, (B)-(IV), (O)-(1), (D)-~(1LL)
(3)  (A)-(1), (B)~(IV), (O)~(1), (D)-(1T)
4) (A1), (B)-(1), (O)-(1V), (D)-(I)

Options :
1.1



2.2
3.3
4.4

Question Number : 66 Question Id : 53307219037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Classical Indian Philosophical texts begins with the aphorism - “now starts
the enquiry into dharma.” (athito dharma jijiyasd) :

(I) Mahiyana Sutras

(2) Mimarhsa Satras
(3) Arthasastra
(4)  Brahma Siitras
Options :

1.1

2.2

3.3

4.4

Question Number : 66 Question Id : 53307219037 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et & & B 91 eig SR SO T 36 59 8 TR 2 & - o o o oftgst g
FAe (HUm o fome) 2

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307219038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which school of Classical Indian Philosophy maintains that absence is not a positive entity and
that positive entities alone belong to reality and can be cognised ?

(I) Nyiya
2) Vaisesika
3

(
(
(¢

) Prabhikara Mimimsa
) Advaita

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307219038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foeerfim @ form el ST 29 WORE %1 0 o A AT T R A9 e T
o & 7909 § ol 2 € 9 S B el €

() =

D) i

%) TR i

4) ¥gd

Options:

1.1

2.2

3.3
4.4

(
(
(

Question Number : 68 Question Id : 53307219039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following thinkers states “The point is that the atom [ wish to arrive at is the atom
of logical analysis, not the atom of physical analysis” ?

(I) Protagoras

(2) Quine
(3) Kanada
(4)  Bertrand Russell

Options :
1.1



2.2
3.3
4.4

Question Number : 68 Question Id : 53307219039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fowafefian & o e o o & o oy forg e % o o ooy 0 g e €, o
fergeteon o1 oA €, o ifee forveton 17

(1) e

()

(3) e

(4) e

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307219040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“What kind of relation makes a proposition true and what false, cannot be further defined, but
must be immediately recognised.” Who among the following thinkers adheres to the above stated
view ?

(1) Kant

(2) Hume

(3) GE. Moore
(4)  Berkeley
Options :
1.1

2.2

3.3

4.4

Question Number : 69 Question Id : 53307219040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o e 1 ety et Wit 1 W 1 o e & S o 1 fen 9w e S
e a1y @ T w3 Sea i A frefafen § @ i e ga 7

(1) #e

(2) "

3 @R

(4) T

Options :

1.1

2.2

3.3
4.4

Question Number : 70 Question Id : 53307219041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Dharma (is) that from which (results) the accomplishment of exaltation (abhyudaya) and of
supreme good (nihreyasa).” Which schools of Indian philosophy accept the above view ?
(A) Mimirhsa

(B) Vaisesika

(C) Advaita

(D) Simkhya

Choose the correct answer from the options given below :

(I) (A)and (B) only

2} (A)and (C) only

3) (A)and (D) only

) |

4)  (B) only

(
(
(
Options:
1.1
2.2
3.3

4.4

Question Number : 70 Question Id : 53307219041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"ot 7 (3) o A St (anvge) 7o e v (F9m) o () @ )" frefetfea B A #m
WA 29 HE 58 fteehi o il o & 7
(A) FwRT

) i

©) ¥

(D) H@

A1 few T ol W 9 e S 1 T I
(1) o (A) 4R (B)

Q) % (A) 9 (C)

() I (A) R (D)

(&) % (B)

Options :

1.1

2.2

3.3
4.4

Question Number : 71 Question Id : 53307219042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 11
Books Authors
(A) Ethics : Theory and Contemporary Issues  (I)  Annette Baier
(B) In a Different Voice (I) Carol Gilligan
(Ill) Barbara Mackinnon

(C) Feminist Morality
(D) Moral Prejudices : Essays on Ethics (IV) Virginia Held
Choose the correct answer from the options given below :

(D) (A1), (B}, (C)-(I), (D)-(IV)
(2) (A1), (B)-(I), (©)-Iv), (D)-1)
(3)  (A)(I), (B, (©)-1V), (D)-[)
(4)  (A)(D), (B}-(II), (Cp(IT), (D)-(IV)

Options :
1.1
2.2



3.3
4.4

Question Number : 71 Question Id : 53307219042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s
-1 -1
T&ieh [GEEED
(A) U : PR e =i 39l ([) WHS @R
(B) ¥ U fewiz =izd (1) Fa fferm
(C) T \Rfae (I1) =& HiwH

(D) WRA Wsgfedy: TEs o Wem  (IV) a1 soe
= feu o fawedi § € W& S 1 = FT

(1) (A)D), (B)-(IT), (C)~(I), (D)-(IV)

(2)  (A)-(ID), (B)-(ILD), (C)-(1V), (D)-(I)

(3) (A)-(II), (B)-(ID), (O)-(IV), (D)-(I)

4)  (A)-(D), (B)-(IIT), (C)-(I), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307219043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who among the following philosophers are supporters of subjective idealism ?
(A) Sankara

(B) Nigarjuna

(C) Vasubandhu

(D) Berkeley

Choose the correct answer from the options given below :

(1) (C) and (D) only

(2 (A) (C) and (D) only
@3) (4) (), () (D)

(4) (A)and (C) only
Options :

1.1

2.2

3.3

4.4

Question Number : 72 Question Id : 53307219043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 5 § #m § i faufafs yermee & gnds €2
(A) T

(B) WA

(C) =gaYy

(D) ehel

== Teu 7T forkedi # € W& IO Il =TI HifIQ
(1) @aa (C) a1 (D)

(2) FEa (A), (C) 941 (D)

@) (A), (B), (O, (D)

(4) A (A) 7 (O)

Options:

1.1

2.2

3.3
4.4



Question Number : 73 Question Id : 53307219044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
Theory/Thought/Book Philosophers
(A) Veil of Ignorance (I)  Ronald Dworkin
(B) Two Treatises of Government (II) Robert Nozick
(C) Libertarianism (Il) John Rawls
(D) A Matter of Principle (IV) John Locke

Choose the correct answer from the options given below :
(1) (A1), (B)-(IV), (C)-(1D), (D)-(I)

(2) (A1), (B)}-(IT), (O)-(II), (D)-(IV)
(3)  (A)(IV), (B)-(IID), (O)-(1I), (D)-(I)
(4)  (A)-(1), (B)-(I1D), (O)-I), (D)-(IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 73 Question Id : 53307219044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs
Ti-1 Gt-11
Torgra/feemy awes aryifen
(A) SEFH-92 () e ot
(B) 2 feemss & TerH= (I e e
(C) TR/ EE<deEns (IIT) < AT
(D) T HI AF ffgas (IV) < @i

= feu e faredi § © 9E 39 &1 =94 FH9
(1) (A1), (B)-(IV), (O)-(1L), (D)-(I)
(2)  (A)-(D), (B)-(1I), (C)-(IL), (D)-(IV)
(3)  (A)-(IV), (B)~(I1L), (O)~(11), (D)-(I)
4) (A1), (B)-(I1L), (O)-(1), (D)-(IV)



Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307219045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following leading theorists on multiculturalism has called for “group-differentiated
rights” ?

(1) Taylor

(2) Hollinger

(3) Kymlicka

(4) Glazers

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307219045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e o 9 1 ageefrere 3 waifn we fagraere ' ae-faufed sfterml"’ 1 gHe 9 €7
(1) o

(2) R

(3) femiert
(4) o
Options :
1.1

2.2

3.3
4.4

Question Number : 75 Question Id : 53307219046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11.

List - I List - I1

Books Authors
(A) Sources of the Self (I)  Robert Nozick
(B) Truth and Truthfulness (II)  Michael Sandel
(C) Liberalism and the Limits of Justice (II) Bernard Williams
(D) Anarchy, State and Utopia (IV) Charles Taylor

Choose the correct answer from the options given below :
(1) (A)-D), (B)-(I1), (C)-(Im), (D)-(IV)

(2)  (A)-(D), (B)-(IL), (C)(IT), (D)-(IV)
(3)  (A)-(IV), (B)AID), (C)-I), (D)-(I)
(4) (A)-(IV), (B)-(III), (C)-(1I), (D)-(I)
Options :

1.1

2.2

3.3

4.4

Question Number : 75 Question Id : 53307219046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gat-1 § -1 1 fAar #ifs
-1 el

Teh [gEeea
(A) HIES 3F € ok () U= iforr
(B) 2 U TUAFET (I) WEEHa T2a
(C) fasrfesw Ug < fafmeg w Sfeq (1) sHTE fafeag
(D) TUARH, ¥ Ug Fft (IV) =red e
9= fou o fasredi § 9 WE SO 1 99 FISU

(1) (A, (B)-(I), (OIL), (D)-(IV)
(2) (A, (B)-(II), (C-(I), (D)-(IV)
(3)  (AHIV), (B)-(ID), (O)-(I1D), (D)-(T)
@) (A1), (B)(), (O)-(11), (D)-(1)

Options :
1.1



2.2
3.3
4.4

Question Number : 76 Question Id : 53307219047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who states the following ?

"Morality, religion, metaphysics and all the rest of ideclogy as well as the forms of consciousness
corresponding to these, thus no longer retain the semblance of independence.”

(1) Michael Sandel

(2) Karl Marx

(3) Alasdair MacIntyre

n

Amartya Sen

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307219047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I e 7

"Sf, o T TE G o ferEmeme & MY-wY S Hag 6 & W, S0 W #
ST 1 5 S A T O Tl I T ¢

(1) e Hed

(2) el W

(3)  ERETR AR

(4) & W

Options :

1.1

2.2

3.3
4.4

Question Number : 77 Question Id : 53307219048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"The passage from the state of nature to civil state produces a very remarkable change in man”.

Whose statement is this ?
(1) Locke

(2) Rousseau
(3) Nozick

(4)  Isaiah Berlin

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307219048 Question Type : MCQ Option Shuffling : No

ufit feafc § fafoet w2 a1 AW 970 § a5 WewmqUl Yedd 36 N ¢ | 6 (R F ¢ 7

Options:
1.1
2.2
3.3
4.4

Question Number : 78 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307219049 Question Type : MCQ Option Shuffling : No



Which of the following statements are false about the moral systems and philosophers ?
(A) Most of the moral absolutists are also consequentialists.

(B) Absolutists believe that some actions are extrinsically wrong or right.

(C) Jeremy Bentham was one of the moral absolutists.

(D) Jeremy Bentham was opposed to moral absolutism.

Choose the correct answer from the options given below :

(1) (A), (B), (C) only

(2) (A), (D) only

(3) (B), (D) only

(4)  (A), (B) (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 53307219049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefaa § § 27 ¥ Fem Afos wgfasi o ewife & i ¥ Tea 8 2
(A) st Jfae FRserd aftomar o €

(B) RUsEE! 7rd € fF Fo F1 Ted IR W e 196 Tel © |
(C) Sioft Sem w Ao Fdeamwt o

(D) it sigm A e FRueEre @ fady fean o

= fou mu faskedi § @ WE IO & FIH Fi0
(1) %9 (A), (B), (C)

(2) 9 (A), (D)

(3) %9 (B), (D)

(4) %= (A), (B), (D)

Options:

1.1

2.2

3.3

4.4



Question Number : 79 Question Id : 53307219050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which fallacy is committed in the following syllogism ?
Some dogs are friendly
No friendly animals bark
Therefore, No dogs bark

(1) Undistributed middle
(2) Ilicit Major

(3) Mlicit Minor

(4) Fallacy of Four Terms
Options :

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 53307219050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefaa = o 9 91 ahay €
F9 vaH R 2 €
12 frerar ayy ik e €
sHifeTe i vam wfishar el &

(1) AT Hey

(2) Y AU

(3) 3EY THUR

(4) R Y& I qH

Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 53307219051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the fnllnwing statement forms is tautnlagnus ?

() p>~p

2 p=2(pp)

(3) p>og

4 (pP29vg>op
Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 53307219051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafeaa § | &M 91 F99 §9 gl € 2
() p=>-p

(2 p>(p-p)

3) pP>q9

4 P>9v@>p
Options:

1.1

2.2

3.3

4.4

Question Number : 81 Question Id : 53307219052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



By using Truth-tables for testing the validity of arguments, find out which of the following argument
forms are valid ?

A P2q

Ul

Q) (p29)-(q21)

p

LqQVr

D) pvq
P
P

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

) (B) and (C) only

3) (A)and (D) only
) |

Question Number : 81 Question Id : 53307219052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S 397 5 e A A R, e 4 v o 8 o

@ (p29)-(g21)
p

D) pvyq
p
g

4 fou U fempe & B W@ S 1 9 F0

(1) e (A), (B) 4T (C)

() # (B) 3 (C)

(3) 9@ (A) 31 (D)

(4) e (4)

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307219053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Translate the follnwing into the logical notation of prupositional functions and quzmtiﬁers. In
each case, use the abbreviation suggested.

'No automobile that is over ten years old will be repaired if it is severely damaged.
(A, :xis an automobile. O, : x is over ten years old,

R, : x will be repaired. D, : x is severely damaged)

@) @ [A:0)2 (02~ Ry
@ ®[-A0)2D>~R)
G) ([CA ; 0)>(D,3R,)]
@ (0 1A0)>[D,2R)]



Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307219053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

favtfefiga a1 afefia Fean e qon Sfoner gaef e veeed # fofe) e ded ¥ foy o
e E91 1 A Bt | o AR S 10 o § O B SEH e I A 9 90 16 §
AT % 2|

(A x THAQFE, O, 10 8 T E, R - 1 T 1 €M, D, : 1 G0 T 9 47 ©)

0 (@ [A0)2(D2~Ry]
@ 0[A0)>02~R)]
() @ AD0)2(DoR)]
@ ® [(A1 )2 (D, oR)]
Options :

1.1

2.2

3.3

4.4

Question Number : 83 Question Id : 53307219054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
Rules of Quantification Rules
. » il
(A) Universal Instantiation (I) (3x) (dx)
. i (x) dx
(B) Universal Generalisation (I} ek
il _ (Fx) ($x)
(C) Existential Generalisation  (III) e
D) Existential Instantiati IV i
(D) Existential Instantiation (IV) - (x) bx

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(LI), (C)~(I), (D)-(IV)

(2)  (A)-(D), (B)-(1I), (C)-(1V), (D)-(1ID)

(3) (A1), (B)-(IV), (O)-(I), (D)-(I)

(4) (A)-(10), (B)-(IV), (C)-(I1I), (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 83 Question Id : 53307219054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 § Gi-11 %1 e ki

1 I
9RHE % fEd IREL|
, bv
(A) TrEYHE greifasra (1) @) (47)

(B) HEEIHeR HHTEHI (1) M

(C) et |HF (1) Gf_) s

(D) AT greeifcshdl vy

= feu v fasredi § § 98 I 1 =94 FifeU
(1) (A)D, (B)-(II), (O)~(I), (D)-(IV)
(2) (A) (1), (B)-(1I), (O)~(IV), (D)~(I1)
3) (A1), (B)-(IV), (O)-(1), (D)~(1IL)
(4) (A)-(1D), (B)-(IV), (O)-(1L), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307219055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the truth-value of the following statements, given P and Q are true; and R is false
[P (~Q 2 R)v~P

(1) True

(2) False

(3)  Either True or False

(4)  Neither True nor False

Options :
1.1
2.2
3.3
4.4



Question Number : 84 Question Id : 53307219055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fefefiad Fem 1 Te ged 1 Ted F foEs P o Q ¥ € SR R e €7
[P o (~Q 2 R)|v~P

(1) &

(2) Teid

(3) T Hel e e
(4) 7 HE AR A T
Options :

1.1

2.2

3.3

4.4

Question Number : 85 Question Id : 53307219056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - 11
Hetvibhasa Examples
(A) Viruddha ()  Sound is eternal; because it is produced
(B) Asrayasiddha (L) Sky-lotus is fragrant; because it is a lotus, like the lotus of a lake
(C) Anupasamhiri (IT) ALl knowable objects are fiery; hill is knowable, therefore, hill is
fiery
(D) Sidharana (IV) All objects are eternal because, they are knowable

Choose the correct answer from the options given below :
(1) (AL, (B)-(1), (CH(II), (D)-(IV)

@ (A)HI), B)-(I), ©)-m), D)-(IV)

() (A)-(L), (B-(L), (CHIV), (D)
) (A, B-0), (CH), (D)
Options :

1.1

2.2

3.3

4.4

(
(
(



Question Number : 85 Question Id : 53307219056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tell-1 H -1 1 e hife
-1 -1
el T
(A) faeg (I " v & A1 o o 3091 o I &
(B) TGS (Il) SR~k T & i 75 T Al & SN Sl &1 9
(C) TR () Tt 39 vee o € Tere 3 €, o Terg ifte &
(D) T (Iv) Bt wered v & T 9 31 2
A feu U fomred # A WE W A T A
(1) (A}, B)-), (), (D)-IV)
(2)  (A)-(D), (B}-(I), (CH(I), (D)-IV)
(3) (A}, (B}-(I), (CHLV), (DI
(4) (A1), B)-0), (©AIV), (D))
Options
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307219057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following consider Jiva as an ‘amsa’ or part of Brahman ?
(A) Bhaskarichirya

(B) Rimanujichirya

(C) Madhusidana Saraswati

(D) Vidyaranya

(E) Sri Harsa

Choose the correct answer from the options given below :

(I) (A) and (B) only

(2) (©), (D) and (E) only

(3) (B), (C) and (D) only

(4)  (4), (B), (C) and (D) only

Options :



1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307219057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= o | I g 1 F8 F TR 379 33 9 0 © 2
(A) WERTEE

(B) THISTE

(C) WYY |IEdl

(D) fa=mog

(E) 4red

A= few g fosredl § 9 T IR 1 =9 HIT
(1) 9 (A) T (B)

(2) Fd (Q), (D) T (E)

(3) = (B), (C) T (D)

(4) Fd (A), (B), (C) T (D)

Options:

1.1

2.2

3.3
4.4

Question Number : 87 Question Id : 53307219058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Schools of Vedanta Acharyas
(A) Acintya Bhedibheda (Iy  Yadava Prakasa
(B) Bhedabheda (Il)  Sri Chaitanya

(C) Svabhavika Bhediabheda (III) Bhartr PrapanEa
(D) Abheda (IV) Kasakrtsna
Choose the correct answer from the options given below :
(1)  (A)-(10), (B)-(I1D), (C)-(1), (D)-(IV)

(2)  (A)-(I), (B)~(11), (C)-(IV), (D)-()

(3)  (A)-(D), (B)-(II), (C)~(II), (D)-(IV)

(4)  (A)-(I), (B)}-(L), (C)-(IV), (D)~(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 87 Question Id : 53307219058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 fAem i
Teii-1 GeEi-11
dera et faramem 3=
(A) @ eI I) =Ed
(B) WU () ot ==
(©) T e () g g
(D) 34T (IV) hToTFeEA

= feu 7o fasredi § 9 |8 SO 1 =94 6T
(1) (A)-(1), (B)-(I1D), (©)-(I), (D)-(IV)
(2) (A=), (B)-(1L), (O)-(IV), (D)-(I)
(3) (A1), (B}-(ID), (O)(111), (D)-(1V)
4) (A)-(D), (B)-(ID), (O)~(LV), (D)~(1IL)

Options :



1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307219059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one among the following correctly describes “Alayavijiiina” (store-house of consciousness),
according to Lankavatira Sitra ?

(1) Itis an ever changing stream of consciousness.

(2
(3
(4

) Itis beyond all the plurality of imagination
) It does not transcend subject-object duality
) It describes individual consciousness

Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307219059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

CTERTAT. 1 % ST ATCTATer (o 1 e ) 1 feeifcfe o foe et o 0 v foe T 7
(1) T ¥ 1 T Fa TRadie e ¢ |

) % FO T FEEed § W

3) T MR- g WA |

4) T SEfEE = ) ot

s

(
(
(
Options:
1.1
2.2

3.3
4.4

Question Number : 89 Question Id : 53307219060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following is not a correct description of ‘Apiirva’, according to the Piirva-Mimamsa
school 7

(1) It explains the law of Karma.

(2) Itis linked to the performance of Vedic rituals.

(3) Itis the causal - potency in the “act’ which leads an action toward ‘its" fruis.
(4) Itis the shakti or causal potency of God who bestows fruits of an action.
Options :

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 53307219060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gd wiiwian 7a % AR Fefatea § § w5 agd’ 1 get oo w1 &2

(1) %8 %H & fagT % e X 8|

(2) %€ A< ATSMA & A ¥ Hafud |

(3) ¥ F H FRO-HWe € SN F Iqeh ol h SN UG FHA & |
(4) 7R Ao Y ST F FRO-THLA § S FHRE FI FST FAT & |

Options:
1.1
2.2
3.3
4.4

=

Question Number : 90 Question Id : 53307219061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Mahavakyas Upanisads
(A) Tat-tvam-asi () Chandogya Upanisad

(B) Aham Brahmasmi (II)  Brhdaranyaka Upanisad
(C) Prajianam Brahma  (III) Aitereya Upanisad

(D) Ayam Atmi Brahma (IV) Mandikya Upanisad
Choose the correct answer from the options given below :

(1) (A0, (B)(I), (O)-(1V), (D)-(I1)

(2)  (A)-D), (B)-(II), (O)-(IM), (D)-(IV)
(3)  (A)(ID, (B)-(D), (O)(I), (D)-(IV)
(4) (A1), (B)-(I), (C)-(1V), (D)~(ILI)
Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 53307219061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs

Ti-1 a1

TETETaR Jufag
(A) T @ AW O Brrg 3ufeg
(B) 37@H FEIEH (II) FESHUgsH IS
(C) W T (I1) TaRF g
(D) 39 AT 5l (IV) Higs 39fHug

= feu e faredi § © 9E 39 &1 =94 FH9
(1) (A)-(D), (B)-(II), (O)(IV), (D)-(II)

(2)  (A)D), (B)-(IT), (O)-(IL), (D)-(IV)
(3)  (A)-(ID), (B)-(D), (C)-(III), (D)-(IV)
4) (A, (B)-(1), (O)-(1V), (D)-(I)

Options :
1.1



2.2
3.3
4.4

Question Number : 91 Question Id : 53307219062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term “trayi’ in Kimandakiya Nitisara stands for :
(I) Rg, Yajur, Sama

(2) Sruti, Smrt and Purina

(3) Sattva, Rajas and Tamas

(4) Sambhita, Brihmana and Upanisads
Options :

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 53307219062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FTHEF T a9 § = o8 ST Fen ©
(1) =T 39y 9

(2) 4fd, Ffd T g

(3) 9, 9 3R aHE

(4) Hfedr, JEHY SR UMY

Options :

1.1

2.2

3.3
4.4

Question Number : 92 Question Id : 53307219063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who is the author of the text Nyayabindu ?
(1) Annam Bhatta

(2) Udyotakara
(3) Digiaga

(4) Kesava Misra
Options :

1.1

2.2

3.3

4.4

Question Number : 92 Question Id : 53307219063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=I1Efeg T F oHaE Fi € 2

(1) =W ¥g
(2) FEITaHT
(3) e

(4) Y= HA
Options:

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 53307219064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the elements of the causal wheel of Dependent Origination in sequential order.
A) Ignorance (avidya)

B)  Six sense-organs including mind (sdéyatana)

D) Thirst for sense-enjoyment (trsni)

E) Wil to be born (bhava)

Choose the correct answer from the options given below :
(1) (A) (), (®), D) (E)
), (D), (E)
)i (

(
(
(C) Impressions of Kirmic forces (samskara)
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307219064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yo Icd HHAIS o ShRUTl =k o 3{add] bl shiHh ©9 § HaAred o |
(A) SR (sTe)

(B) W9 I Wit #R Fe fgAl (weEa)

(C) FH-Fell ol 99 (H=FR)

(D) Efed 9 1 o (JOm)

(E) 9 o i T (99)

A fou Tu foered H 9 W& ST 1 =94 HIfC ;

(1) (A), (©), (B), (D), (E)

(2) (A), (B), (©), (D), (E)
@) (@A) (B), (©), (E), (D)
4) (A (Q), D) (B) (E)

Options :

1.1

2.2

3.3



4.4

Question Number : 94 Question Id : 53307219065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are true of kinds of Sciences Aristotle categorizes in Metaphysics ?
(A) Engineering and Architecture are productive Sciences

(B) Strategy and thetoric are theoretical sciences

(C) Ethics and Politics are practical sciences

(D) Physics, Mathematics and Theology are theoretical sciences

Choose the correct answer from the Dpt'ions given below :

(1) (A), (B), (D) only

(&) (A), (B), (C) only
() (B) (C), (D) only
() (A), (©), (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 53307219065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aerfforrg B o7 g i ol o wabm o fawa § freaferfiaa & & 9 w1 8 2
(A) TR ud areeha Saed foam §

Options :
1.1



2.2
3.3
4.4

Question Number : 95 Question Id : 53307219066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is in accordance with Plato’s conception of ‘virtue’ and knowledge’
in the Meno ?

(A) Virtue can be taught in the present life.

(B) The knowledge of good and evil cannot be taught in the present Life.

(C) The knowledge can only be recovered by recollection,

(D) Virtue can only be recovered by recollection.,

Choose the correct answer from the options given below :

(1) (A), (B) only

(2 (A), (B), (C) only
() (B), (C) only
() () ©), (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 95 Question Id : 53307219066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafea & @ 2 991 5 <@ 1 9T @I I F Hheq T F STER €2
(A) A SfE T HON R G ST Gl §

(B)  SIHT S # YW SR ST 1 T YT Tel S Tkl ©

(C) T =1 e Wfa | & ufacsa fepan s gepar €

(D) U I Fad Fid d & Gaer foran s 9 €

= fou mu fomedi § © W IO H I FHifo

(1) 94 (A), (B)
)

(2) 9 (A), (B), (C)
(3) e (B), (C)

(4) 5 (B), (C), (D)
Options :

1.1

2.2

3.3
4.4

Question Number : 96 Question Id : 53307219067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Cold” means only "nothot”, and “dark” means only “not light”. “The One” is to be conceived as
material and extended.

Whose metaphysical proposal would subscribe to this ?
(1)  Parmenides

(2) Anaximander
(3) Heraclitus

(4) Plato
Options:

1.1

2.2

3.3

4.4

Question Number : 96 Question Id : 53307219067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"y o T e IO R A e T O e €| O
g 9 foeifi Ty G ST 0 | orwen TraIvieTy el e STHIe R )

(1) WHEEH

(2) FFHE
(3) efdcen
W
Options :
1.1

2.2

3.3

4.4

Question Number : 97 Question Id : 53307219068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following philosophers of the Milesian school held that all things come from a
single primal substance ?

(1) Thales and Anaximander

(2) Anaximander and Pythagoras

(3)  Thales and Parmenides

(4) Heraclitus and Thales

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307219068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teifee T e et o 9 9 4 Tl 1 7 e & i it ol o v o v 4 o
&

(1) 9fcs T TR

(2) AR S TS

(3)  9fce T e

(4) Ffdees T o

Options :



1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307219069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following classical Indian thinkers in chronological order.

(A) Nagarjuna

(B) Gaudapida

(C) Madhva

(D) Vallabha

Choose the correct answer from the Dptinns g'wen below :

(1) @) (©), B) (A)

2 (A) (B) (O (D)
(3 B), (A) D), ©
4 (B), (A), (Q) (D)
Options:

1.1

2.2

3.3

4.4

Question Number : 98 Question Id : 53307219069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafad ssia YR fa=ReRl i FTFATIER FH | T
(A) TS

(B) TR

(C) wed

(D) =eAY

= feu o fowedi § 9 WE S9¢ & 999 FIf9U

(1) D) (©), (B), (A)
(2 (A), (B), (©), (D)
() (B), (A), (D), (O
4) (B), (A) (O, (D)




Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307219070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are among the three laws of thought ?
(A) Law of Identity

(B) Law of Relativity

(C) Law of Contradiciion/Non-contradiction

(D) Law of Excluded Middle

Choose the correct answer from the options given below :

(1) (A), (B), (C) only

(2) (B), (C), (D) only

(3)  (A), (O), (D) only

(4)  (A), (B), (D) only

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307219070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefefea § | & 9 foam % fm €2

(A) dEeHg FEm

(B) -

(C) =AM/ == fam

(D) wemE fam

=1 fou T fasredi § 9 Wer SO 1 999 i
(1) = (A), (B), (O)

(2) = (B), (O), (D)

(3) %9 (A), (C), (D)

(4) 9 (A), (B), (D)

)
)

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307219071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Whose statement 1s this ;

".... could [ say to myself that everyone make a false promise when he is in difficulty from which he
otherwise cannot escape ?"

(1) ]S Mill

2)  Immanuel Kant

(
(3)  Charles Taylor
(4) Peter Singer
Options:

1.1

2.2

3.3

4.4

Question Number : 100 Question Id : 53307219071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



7 forrt o © o v o e o foreh o oo A fveen o < 3 e o o O e
7 81 ford o o= o ) e e

(1) . fi

@ g e

(3) e I

(4) e e

Options :

1.1

2.2

3.3
4.4

Question Number : 101 Question Id : 53307219072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"An act is morally right if and only if no alternative to that act has higher agent utility than it has”,
This statement is indicative of which of the following ethical theories ?

(I) Deontology

(2) Utilitarianism
(3) Egoism
(

=y

) Emotivism

Options:
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307219072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"o e e 0 7 9 2 €, 4 R o e 30 e 3 ot oft o o el e <
B ot A 811" e e o Hfeereita fergia 1 g 27

(1) o

(2) IR

EEE

(@) AR

Options :



1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307219073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The thesis that evaluative language 1s used “to guide choices” 1s the most fundamental to which of
the follnwing theories of metaethics ?

(I)  Descriptivism

2

) Emotivism
3)  Prescriptivism

4)  Naturalism

(
(3
(
Options :
1.1
2.2
3.3

4.4

Question Number : 102 Question Id : 53307219073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ST 5 Y ST B R 3 e o i a3, st
P fogr B 4 g o1 9 e ey 22

()
0
0
0

%é%%

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307219074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
View Ethicists
(A) Emotivism (I) Hare
(B) Prescriptivism (II) Epicurus

(C) Goodness is unanalyzable (IlI) Stevenson
(D) Hedonism (IV) Moore
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(LI), (CO)-(IV), (D)-(IT)

(2)  (A)-(D), (B)-(I), (O)-(IV), (D)-(II)

(3)  (A)-(IV), (B)-(D), (C)}-(I), (D)-(10)

(4) (A1), (B)-(I), (C)-(I), (D)-(IV)

Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 53307219074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 4 g1 1 foem i
Teii-1 TEi-11
faam gt
(A) HITamE O &R
(B) STIER (I1)  3roeREE
(C) Fuar Afawemoim € (1) ErEad
(D) HE&R (Iv) I

= feu 7o fasredi § 9 |8 SO 1 =94 6T
(1) (A)D), (B}-(I), (C)-(IV), (D)-(IT)

(2) (A)-(ID), (B)~(I), (CO)-(IV), (D)-(I)

(3)  (A)-IV), (B)-(I), (C)-(III), (D)-(II)

(4) (A1), (B)-(I), (O)-(I), (D)-(IV)

Options :

1.1



2.2
3.3
4.4

Question Number : 104 Question Id : 53307219075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The idea of clearing debts (rnas) such as deva rna, ptr rna, bhiita rna etc, which are correspondingly
connected with deva yagha, ptr yagiia and bhiita yagfia etc., are related to which one of the following
Aéramas ?

(I) Sanyisa

2
(3
(4

) Grhastha
) Brahmacharya
)

Vﬁnaprastha

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307219075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<l 0, g 8, 5 380 9 B, 1 oh < 9, T o9 IR 0 71 © ity , 21 foree/ 57 § o
W ¥ e § 7

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307219076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"Just as the water collected in the boat is thrown out with the hands. Similarly the soul throws out
the water in the form of Kirmic matter.” This statement is in consonance with the ethical views of
which of the following schools of Classical Indian Philosophy ?

(1) Jainism

Buddhism

Question Number : 105 Question Id : 53307219076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T O o 3R gl TR T ST € S R, e i v w0 O ) o
it 8" 7 Fom e & 4 g el st o & e aen @

(1) S H

( Ei’wh

(4) q‘”

Options:
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307219077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘Dharma’ according to Sabara ;

(A) Is beyond sense-perception

(B) Can be known by inference

(C) Vedic authority is the basis of understanding Dharma
(D) Does not exist at the time of performance of an action; and never will come in to existence.
Choose the correct answer from the options given below :
(I)  (B) and (D) only

O () oy

(3) (A) and (C) only

(4) (A), (B) and (D) only

Options:

1.1

2.2

3.3

4.4

Question Number : 106 Question Id : 53307219077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y o SR o'

(A) Fea-voae | T

(B) STAM | A1 S WA €

(C) ¥ ST NEFTEAT F1 SR Sifeeh JoI0 & |

(D) 7 forelt el  Foert & vt oifecal 1 v & oiR o of o # R o

e feu o fomedi @ 9 W& R F T FIC
(1) 9 (B) T (D)

(2) %5 (A)

(3) % (A) W (Q)

(4) % (A), (B) T (D)

Options:

1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 53307219078 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

'Khudi' is the root of all existence, human ego is linked with the ultimate ego. By conceiving God
as the Supreme ego, Iqbal means :

) God as light

) A dynamic and creative light

) Infinite creative possibilities

) A creative progress of the world

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307219078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o fie 1 T ' §, T 9% O O @ Hag §1 WO 9% & ®9 H R Y Fo A gL
T A 2

(1) e % &9 W 9

(2) oSt R G e
(3) & I Hd
(4) T I Yo T
Options :

1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 53307219079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following considers ‘Miya’ as a principle of ‘cosmic error” ?
(1) Swimi vivekananda

(2) K.C. Bhattacharya

(3) Rabindranath Tagore

(4) Thiruvalluvar

Options :
1.1



2.2
3.3
4.4

Question Number : 108 Question Id : 53307219079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fforfas # & @ ‘wrn’ 1 ' 3’ (fow Jfe) * fagid & w9 A e ?
(1) v faeEm<

(2) *®H, weEw

(3) Tz TR

(4) Toeeea

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307219080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - 1L

List - I List - II
Concepts/Theories Thinkers
(A) Traitavada (I) Swami Dayananda Saraswati
(B) Radical Humanism (I) M.N. Roy
(€) Mahima Dharma (Ilf) Sant Kabi Bhima Bhoi
(D) One caste, one religion, one God (IV) Narayana Guru

Choose the correct answer from the options given below :

(1) (AHI), (BHI), (C-(1V), (DA
(2)  (AHI), (BHIV), (O-(I), (D}-(I)
(3)  (AHII), (B)-(IV), (CHID, (D)-(I)
@) (AHI), (BHI), (O-I), (D)-(IV)
Options :

1.1

2.2

3.3



4.4

Question Number : 109 Question Id : 53307219080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 frer shifs .
Tfl-1 GE-11
(A) FFER () &l ZFE=< el
(B) U HMEAR (I) THUA T4
(C) wfewn e (1) Ha fa ofm o

(D) T Ifd, Tk 98, Tk 29a) (IV) ARE0 &
= feu 7o faepedi § € W& IR F1 =994 HIfT

(D) (A)D), (B)-(L), (C)-(IV), (D)-(II)

(2) (A, (B)-(IV), (O)-(I), (D)-(IT)

(3) (A)-(II), (B)-(IV), (O)-(ID), (D)-(I)

(4)  (A)-D), (B)-(L), (C)-(I), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307219081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I

List - I List - II
Contemporary Indian Thinkers Books
(A) J. Krishnamurti (I) Buddha and His Dhamma
(B) Rabindranath Tagore (I)  Tirukkural
(C) Thiruvalluvar (I) Sadhana
(D) Bhim Rao Ambedkar (IV) Freedom From the Known

Choose the correct answer from the DptiDHS giv en below :

(1) (A0, (B)-(L), (C-(I), (D)-({IV)
(2) (AR, B, ([©-(1V), (D)
(%) (IV), (B)-L), (O)-(1T), (D)-(1)
( ( )

(A
(AHLIV),
4)  (AHIV), (B)-(ID), (C)-(D), DI

;-
A)-
Options :
1.1
2.2

3.3
4.4

Question Number : 110 Question Id : 53307219081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs
Tei-1 GE-11
THeRTe Wara fadeh Tl
(A) . Fomfd () 5 TS fes g
(B) TEI=A1Y 7R () foegga
(C) Togaeg (III) e
(D) W g FAEEH (IV) ThieH %H g 9H

=1 feu U foehedi § € Wél IO ol T FHI9T
(1) (A)-(D), (B)-(LI), (C)~(I), (D)-(IV)

(2)  (A)-D), (B)-(II), (O)~(1V), (D)~(III)

(3)  (A)-(IV), (B)-(IIL), (C)-(11), (D)-(D)

(4)  (A)-(IV), (B)-(IIL), (O)-(D), (D)-(1I)

Options :

1.1



2.2
3.3
4.4

Question Number : 111 Question Id : 53307219082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one among the following holds, the view, “Intellect and intuition are complementary to
each other.... intuition is beyond reason not against ?

(1) Swami Vivekananda
(2)  Dr. 5. Radhakrishnan
(3)  Sri Aurobindo

()

Ll

Tagm‘e

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307219082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feferfin o & 7% oftesim fovan & 1, " g R oft o WOR T € .. 009 0 AW, A fH 5
foeg"'?
@ fqesm

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307219083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Descartes in calling “Cogito, ergo sum” as the first principle of philosophy, claims to achieve which
of the following goals ?

(A) Prevents his method of systematic doubt from leading to skepticism.
(B) From it he derives all the principles of his system.

(C) Derives that 'l am a substance whose essence is to think'.

(D) Derives that "being a body is also part of my essence’.

Choose the correct answer from the options given below :

(1) (A) @) (C)only

Q@) (), [0)ony
6) (A),(8) (D) only
@ (A)(0) (D) only

Options :
1.1
2.2
3.3
4.4

(
(
(

Question Number : 112 Question Id : 53307219083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&are 3 T s fen' ) <R o e ferga o) @ aen et § fo el =1 wif o1 1
ER IS

(A) & gorafeer Weg 1 fafY 1 H9aTE 1 S 9 & Tl 2

(B) 39 o v vgfa & wft frgld A F €

(€) "% v v ¢ foren WK o oI 0 &' 9 oy e €

(D) T 2Tl & o 91 2T off 52 e o 4 2

1 feu 0 ol W W@ S 1 T
(1) @ (A), (B) (C)

() (), (C) (D)

(3) %A (4), (B), (D)

(4) % (4), C), (D)

Options :

1.1

2.2

3.3



4.4

Question Number : 113 Question Id : 53307219084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not in accordance with Hume's conceplion of perception, in his

work An Enquiry Concerning Human Understanding ?

(A) Perceptions are not to be understood entirely as the items of our mental world.

(B) Impressions and ideas are two forms of perceptions.

(C) Ideas are the original perception.

(D) Ideas become stored resources for remembering, imagining, thinking and reflecting.
Choose the correct answer from the options given below :

(1) (A), (B) only

() (B) (C) only
() (©) (D) only
@) () (0)only
Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 53307219084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fwafefian # & 37 91 70 %1 T0F 07 §aa0 #0017 G707 SeTeen H T Yo F Heheo o
T T 7

(A) e 1 HRTT H I AT S 1 o o &9 H T HwE S A

(B) AT 91 Y e o & ¥ ¢

(C) Wy Hier ¥4 & |

(D) e TR, e, fe oiR fomet & &g et Son o9 0 £

1 feu 0 ol W W@ S 1 T



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307219085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
How does St. Augustine present the problem of evil ?
(A) Itis essentially theological.
(B) It arises in reconciling the goodness and omnipotence of God with the existence of evil in the
world,
(C) The problem exists only for those who believe in the ultimate goodness of the universe,

(D) God could not omit evil from the scheme of things, therefore, used it as a means of serving
the good.

Choose the correct answer from the options given below :
(1) (A), (B), (C) only

(@ (B), (), (D) only

() (A), (C), (D) only

(4)  (A), (B), (D) only

Options :

1.1

2.2

3.3

4.4

Question Number : 114 Question Id : 53307219085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tz SR S 1 W A T W §

(A) T HETR: (3w6:) e €|

(B) 7 T H Y % AGE F TU-ETR YA AR TR F WY WA i
3 el ¢

(C) T hefel T o feTC I el & S e bl T YA ¥ forear % 2

D) SR gl 1 A1 S A T 9, JHA 36 Y9 F W % T H T @ ¢

A1 few T ol W 9 e S 1 T I
(1) %@ (A) (B) (C)

() % (), () (D)

(3) #A (4), C), (D)

(4) % (A), (B), (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 53307219086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to whom "Mumuksutva’ is an evidence in favour of the state of immortality ?
(1) Swami Vivekananda

(2) Dr. 5. Radhakrishnan

(3) Rabindranath Tagore

(4

|. Krishnamurti

Options:
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307219086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefefe & § foas oFER ‘quefe’ smel 1 stawe & ve 8 U mey €7

(1) w&rH foerm<
(2) . TH TUHUH
(3) Tl Y IR
(4) . Fomfa
Options :

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 53307219087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are supportive of utilitarianism as per Mill ?
(A) Each person desires his/her own happiness.

(B) Happiness is the sole criterion of morality.

(C) Happiness is only quantitative in nature and not qualitative.
(D) General happiness is good to the aggregate of people.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (A), (B) and (D) only

(3) (A)and (D) only

(4) (A) (), (C) (D)

Options:

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 53307219087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



foret % oFER frefafea § 9 #9 § FF SwfTaEe #3199 YeH #7 ©
(A) Teds SAfR B ST e T T HI HHA Bl ¢ |

(B)  W=Tan Afcreran &1 THAE Ry €

(C) W=t Yefaa: A & 7 for Tomee |

(D) =T T T SR & fo 919 gt §

A fou T fosked] | W@t IAT 1 =4 HIT

(1) @ (A), (B) 3R (C)

(2) % (A), (B) 3R (D)
(3) e (A) 3R (D)
(4) (A), (), (O), (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 117 Question Id : 53307219088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“This is good” means “I approve of this; do so as well.” This view is held by who among the
following thinkers ?

(1) Stevenson

(2) Moore
(3) Kant

(4) Bentham

=y

Options:
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307219088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o AT & SR e € O A 1 e e o 4 o e 4 fem
¢

(1) =&
@ T
(3) e
W wm
Options :
1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 53307219089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The view that “questions about ends are, in other words, questions about what things are desirable”
is in consonance with :

(A) Consequentialism

(B) Utilitarianism

(C) Teleological Ethics

(D) Deontological Ethics

Choose the correct answer from the options given below :
(I) (A)and (B) only

(2) (A), (B) and (C) only

(3) (C) and (D) only

(4) (B) and (C) only

Options :

1.1

2.2

3.3
4.4

Question Number : 118 Question Id : 53307219089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o e e, 2 T e & e e o e e

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307219090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following belong to the seven elements of sovereignty according to Kautilya ?
(A) Amitya
(B) Durga

(C) Sakti
(
(

—

D) Kosa
Koti

Choose the correct answer from the Uptions given below :

(1 (A),-( (O UHJV

Options :
1.1
2.2
3.3



4.4

Question Number : 119 Question Id : 53307219090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fifeed & AR, FrAifera ¥ § $H G9ya & 9 a6l o et €2
(A) HHTE

®) i

(C) wfem
(D) Y
(E) e

= feu 7o fowedi § 9 9@ IO 1 9949 FI9T
(1) = (A), (B), (O)
(2) %A@ (A), (B), (D)
(3) A (A), (C), (B)
(4) % (B), (O), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307219091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are correctly drawn from wittgenstein’s Tractatus ?
(A) The world is the totality of facts.

(B) A state of affairs is a combination of facts.

(C) A state of affairs is a combination of objects.

(D) If any object is given, all objects are given.

Choose the correct answer from the options given below :

(1) (4), (B), (C) only

(& () (©), (D) only
() (A)(C), (D) only
(4) (), (B), (D) only

Options :



1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307219091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T o 4 #F foeiemd & 29229 9 98 w9 4 fod ™ €2
(A) STTd AT I THU T |

(B) ufifeafa a=di = ddem 2

(C) ftfearfa sgaii =1 Game™ €

(D) fe s =g & 7% B, @ Wi SU YT ¢ |
I Tou U foshedi § 9 Wa SO &l =999 FIf9Y
(1) = (A), (B), (O)

(2) %= (B), (O), (D)

(3) @ (A), (©), (D)

(4) A (A), (B), (D)

Options:

1.1

2.2

3.3
4.4

Question Number : 121 Question Id : 53307219092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Frege in his paper, ‘Sense and Reference’ gives an account of meaning which implies the
following :

(A) A distinction between sense and reference is maintained to sentences of all kinds.
(B) By using signs we express a sense and denote a reference.

(C) Every sign would have only one sense.

(D) Every sense should have only one sign.

Choose the correct answer from the options given below :

(1) (A) @) (C)only

(@) (4),(C), (D) only
() (), (C), (D) only
(4)  (A), () (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 121 Question Id : 53307219092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl 3 o o 8 U YR ¥ o o gaia wem e &, o freferfaa e € -
(A) 99 () 3R Feof (TR) % o9 9 9t JER & i § T o k|

(B) T VAT g B9 9 aHfire N € aen ft weof o e o €

(C) Vs Hekd ol et Tk &l 9 B |

(D) Ve 1@ %1 ot T & Gobd & AeC |

At feu T fomredl o ¥ W SO T F0
(1) %@ (A), (B), ()
(2) ¥5@ (A), (), (D)
(3) #a@ (B), (C), (D)
(4) %9 (A), (B), (D)
Options :
1.1
2.2
3.3

4.4



Question Number : 122 Question Id : 53307219093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quine, in “Two Dogmas of Empiricism” had two targets of his attack. Which among the following

statements mark it correctly ?

(A) A belief in some fundamental cleavage between analytic and synthetic truths is a dogma.

(B)  The belief that each meaningful statement is equivalent to some logical construct upon terms
which refer to immediate experience is also a dogma.

(C) Two expressions are synonymous if one can be substituted for other in a sentence without
affecting its truth-value,

(D) We can logically appeal to any notion of necessity in order to define analyticity.

Choose the correct answer from the options given below :

() () (B)only

Q) {) (0 oy

B () () orly

) (A) (D) only

Options :

1.1

2.2

3.3

4.4

Question Number : 122 Question Id : 53307219093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



5 1 2 ST it et # g & o 9w Froffia fd €1 Ffefan § A @R A P 9
e w7 eifvrR W ¢

(A) fovent 3R Hverlt W 3 7 9 e s ) Ron O ge ¢

(B) 7 IRV o el Wielh o Tl W A0 v e 9 e fofiforl o wqea e g,
Wl T T ¢ |

(C) & wfvefaral wamnef & €, 2fc foreh e & veeh qu o W e 1 e R for g
T T T ¢

(D) rverememer =1 wfRenfeg i o forw 2 eifvaden i el o ermom ot feker ot o W €

4 fou T foedl § # W@ TR 1 T Fi

(1) = (A), (B)
() % @), 0
(3) A (C) (D)
(4) ¥ (A), (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 53307219094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What among the following is not in accordance with Spinoza’s conception of God ?
(A) God is natura naturans and also natura naturata.

(B) God only as natura naturans.

(C) God only as natura naturata.

(D) God is an external transcendent cause acting on the world from without.
Choose the correct answer from the options given below :

(1) (A), (B) (O only

@ ) (O D) only
) (A),(8) (D) only
@ (4),(0) (D) only
Options :

1.1

2.2



3.3
4.4

Question Number : 123 Question Id : 53307219094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feqeiTs =t Svar #i Heheq % aTEy frfefad § § #9979 §2
(A) T (FU-T9UE) & 91 HE-weRfa (SR ) off ¥
(B) T¥I Had AGI- TG €Y T |

(C) F9eR Fad I T ¥ B

(D) F¥aR @Rl SfEamdia TR0 8 S ST | 9l ¥ 1 FE R
= fou Tq foaskhedi # 9 WE I T 99 FHIW

(1) == (A), (B), (O)
(2) %= (B), (C), (D)
(3) Ed (A), (B), (D)
(4) = (A), (), (D)
Options :

1.1

2.2

3.3
4.4

Question Number : 124 Question Id : 53307219095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following statements differentiates Berkeley's idealism from Leibniz's idealism ?
(A) Leibniz proposes a rationalist idealism whereas Berkley's is an empiricist idealism,

(B)  The criticism of the matter is not essential to the construction of Berkley's idealism.

(C) The criticism of the matter is essential to the construction of Berkley's idealism.

(D) For Berkley, human beings know the matter as much as they know the ideas,

Choose the correct answer from the options given below :

() (A) @) only

) @) (o
(3) (C), (D) only
@ (A) (0) ol

Options :



1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307219095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freffefaa # @ 91 § F97 Fhe! F ToHAR F1 AEfer & Yerare § fa 9 €7
(A) AT Jfgar) TEaR F WEE F © qad el B FAdaIe SFYeEr ¢ |
(B) el o Werare & fAfvf o fere wened o1 wee s @ g

(C) @ekel o Feggee i ffifd o fore aned o1 wer aravas & |

(D) =kt 3 SFTAR T Ye 1 S & S €, T e S €

A fou 0 fomed ¥ 9 \E TR T FI
(1) 9 (A), (B)

(2) F (B), ()

(3) @@ (C) (D)

(4) & (A), D)

Options:

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 53307219096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following statements are incorrect of Kant's distinction between a priori/a
posteriori and analytic/synthetic ?

(A) A priori/a posteriori is an epistemological distinction.

(B) Analytic/synthetic is the logical distinction

(C) These two distinctions coincide in their application.

(D) Alla prioti propositions are analytic but not all analytic propositions ate a priori.
Choose the correct answer from the options given below :

() (A) @) only

@ (B) (0 only
(3) (C), (D) only
4 (A) (D) only
Options :

1.1

2.2

3.3

4.4

Question Number : 125 Question Id : 53307219096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fawferfia & & 3 Fo e % Yo/ S e o faverd/gvent fadk o ded # eme 77
(A) Mo/ A Ehe T R AT f

(B) forverd /gt W e fav &)

(C) A2 faske A ST # Weaw) & €

(D) el yrtfaek Wi ferverdh 21 € oy ol fveret wfemfieat e 8 2 €1

7 feu U foered % B W SO T e
(1) 9 (4), (B)

() ¥ @), 0

(3) % (C) (D)

(4) 9 (A), D)

Options :

1.1

2.2

3.3

4.4



Question Number : 126 Question Id : 53307219097 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Locke's epistemological considerations in the Essay Concerning Human Understanding include the

following.

(A) The real essence of things are unknown to us.

(B)  We can have true science about items in the world, not just probable belief.

(C) We cannot have genuine knowledge of our own existence and of God.

(D) Keeping within the bounds of actual sensation, we can have knowledge of the existence of
other things.

Choose the correct answer from the options given below :

(1) (A), (B) only

(@ () (D) only

(3)  (B), (D) only

(4)  (A), (D) only

Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 53307219097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

otk & TR FIAT g7 SetRfvgn § yrmwiErg foremo # frefafes wive € -

(A) TR F I T T oI E |

(B) STA H Sl o R H Gel forR BAN U 7 Wehdl €, 7 fo et WA fored |

(C) W T BHIN T4 a1 $YeR % S o1 A9 9 7 & e ¢ |

(D) iferR GelgA 1§ H T@d §U BH o1 agal o aAfedc 1 JH o HHd &

= feu U femred] § 9 W& SR 1 =9 Hifo ;

1 A), (B
)

T

(1) e (
(2) e (
(3) e (
(4) % (

4

Options :
1.1



2.2
3.3
4.4

Question Number : 127 Question Id : 53307219098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The gund’s of Prakrti in samkhya karika are :
(1) Evolutes

(2) Accidental Attributes
(3) Constituent Elements
(4) Models of functioning
Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 53307219098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HIET FIRFTH GFfd & T E
(1) TamEs

(2)  EEfTER T

(3) HEEH T

(4) T HT TER
Options :

1.1

2.2

3.3

4.4

Question Number : 128 Question Id : 53307219099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If ‘O’ proposition is given as false; corresponding A, E and [ propositions will be....
(1) Adistrue, E is false, [ is false
(2) Adis true, E is false, L is true
(3) Adis false, Eis true, L is false
(4) Adis false, E is true, Lis true

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307219099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ife ‘O wiaafed Tora < T §; O 3EH G A, E &R [ wfasfaE 8
(1) AHe & ETede, [T &

(2) AWE@ T ETEAE [Hd e
(3) ATEAE ESE® [7od ©
(4) A7AdE EHEl ® [Hel ©
Options:

1.1

2.2

3.3

4.4

Question Number : 129 Question Id : 53307219100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"It is better to get perished while performing svadharma; since paradharma is a cause of fear” - this
emphasis on performance of one’s own duty is to be found in:

(1) The Mahabharata

(2) The Arthasastra
(3)  The Nitisira

(4)  The Yajiavalkya smrti
Options :

1.1

2.2

3.3



4.4

Question Number : 129 Question Id : 53307219100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" T 1 O 0 U TR 1 9E ¢, i T 7 o e ¢ ol o & W F e
fode R % et ettt & 9 foe firemen 2 -
(1) Wevre

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307219101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II

Authors Books
(A) Habermas (I)  Hermeneutics and Criticism
(B) Paul Ricoeur (I)  Philosophical Hermeneutics
(C) H.G. Gadamer (IlI) Living Hermeneutics
(D) Schleirmacher (IV) On the Logic of Social Sciences

Choose the correct answer from the options given below :
(1) (A)-(1V), (B)-(II), (C)-(ID, (D)-()
(2)  (AIV), (B)-(IID), (O)(), (D)-(IT)
(3)  (A)-(I), (B)-(II), (O)-(II), (D)-I1V)
(4)  (A)(I), (B}-(ID), (C)-(IV), (D)~(III)

Options :
1.1
2.2
3.3
4.4



Question Number : 130 Question Id : 53307219101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gt-1 9 gEt-11 = fAer =i
Tl-1 gAl-11
Sicks RAED
(A) TEHE () eHAEfesy de fofefass
(B) it e (1) frenforsa eHAafeay
(C) TS e (1) ferfam grHtafesd
(D)  VeAICHTEHRT (IV) 31 T difsieh 3% |ive |Qedg

dr= feu 7o foredi # 9 W IO F 999 FI9T ;
(1)  (A)IV), (B)HII), (O)~(1D), (D)-(I)
(2)  (A)IV), (B)HIID), (O)~(I), (D)~(I)
(3)  (A)-(D), (B)-(1I), (O)~(IL), (D)~(IV)
4) (A, (B)-(I), (OHIV), (D)~(1)

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307219102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to pragmatic theory of truth :
(1)  Truth is a system of beliefs and it must not disagree with the real.
2)  Truth must be a copy of reality, and it must not disagree with the real.

(
(3) Truth must have practical consequences, and must not disagree with reality.
(4) Anidea is true, if it works and if it is a copy of reality.

Options:
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307219102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el o Rt W g o S ;

(1) e Wrwet] 31 O o ¢, 791 38 9919 (§9) § S9ea el el =1feq |

(2) He 1 3 Bt wfaferd & =nfey, e 38 ger § swe T @ Ae

(3) T 1 SR GO & e qen 6 Andd B SHend TE e fev|

(4) T fora (To9) el B e, A 7% W & 94 AT 98 A 1 Wity g e |

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307219103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following anupapattis (part of sapta-vidha-anupapattis) by Acirya Riminuja critiques
Sankara's miyi-vida on the question of locus of avidya ? Is the locus Brahman or Jiva ? It can’t be
Brahman, since there is no place for avidyd in Brahman. It can't be Jiva, since [iva itself is the
product of avidy.

(I)  Tirodhininupapatti

(2)  ASrayinupapatti

(3

(4) Nivartakinupapatti

) Anirvacaniyinupapatti

Options:
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307219103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fawafefian & & 5t et (o syoe) e o ToF & 79 9 Hala 9 TR 6
ST TR Y ST & 7 90 g T T 91 S & 7 9 0 Tl ) ek & aireh v o affren o
I Tl & | e St Fel o W e Sia @ S 3 I ¢

(1) foemrgm

(2) g

o) st

() Frdamy

Options :

1.1

2.2

3.3
4.4

Question Number : 133 Question Id : 53307219104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are included in the “panca-klesas” as described by Patanjali in his
Yognsitras ?

(A) Asmita
(B) Riga
(C) Dvesa
(D) Viparyaya

(E) Avidya

Choose the correct answer from the options given below :
() (C) and (D) only

(2) (A), (B)and (C) only

(3) (D) and (E) only

@) (A) (B () and (©) cnly

Options:
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307219104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST 3 AT ¥ AR Fefatad § ¥ P i’ ¥ e €2
(A) e

(B) T

(C) &9

(D) faw=

(E) e

3 e e fomredt & @ W@ SO B TAR FT ;
(1) 9 (C) ¥R (D)

(2) a4 (A), (B) 3R (C)

(3) %= (D) ¥R (E)

(4) F9 (A), (B), (C) IR (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 134 Question Id : 53307219105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The verse from the Kavisyopanisad “tena-tyaktena-bhunjithah” has inspired MK. Gandhi in the
formulation of which one of the following socio-political ideals ?

(I) Satyigraha

(2) Sarvodaya
(3)  Trusteeship
(4) Swaraj
Options:

1.1

2.2

3.3

4.4

Question Number : 134 Question Id : 53307219105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST 3 Ve T e een 3, T o et A for et e form
o T 7 3 o o v

(1) e

() Wi
(3) At ()
(1) =
Options :

1.1

2.2

3.3

4.4

Question Number : 135 Question Id : 53307219106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a causal condition of karma or action, according to the Gita ?
(1) Karta

(2) Karana

(3)  Adhisthana
(4) Kima
Options :
1.1

2.2

3.3
4.4

Question Number : 135 Question Id : 53307219106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e & orgeR frefafea § & $9 % som B &1 SR sty 7w g2
(1) ol

(2 =W

(3)  SAH=HE

4) @M
Options :

1.1



2.2
3.3
4.4

Question Number : 136 Question Id : 53307219107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following philosophers gives a critique of technology as a mode of enframing
that reduces the world to a resource for human exploitation ?

(1) Bruno Latour

(2)  Herbert Marcuse
(3) Martin Heidegger
n

Edmund Husserl

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307219107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR B B W1 e AT ) S THRT & 36 TR o &9 ¥ F & 5 5 i A o &
u’wmmﬁﬁdﬁwé?

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307219108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following will not support the distinction made between law and morality ?
8 & PP )

1) Laws musthave some institutional properties which may not be necessary for moral principles.
prop ) ) princip

2)  Laws have explicit formulation in a specified location.

p P
3)  Laws cannot be institutionalized without being morally right.
8 y 18
(4)  Not all laws are morally right.

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307219108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

firer & 9 i fafer o S & mer faddiarm 1 e 7 em?

(1) faferrt o o s e ot B e N e i o for st T @ R €
(2) faferdi o e fofree T o gevee vfowed & €

(3)  Afeer R R wE g o fafidt a6t e 6 & wad |

(4)  goft ffere Ao w9 & 7@ 7 2 €

Options:
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307219109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the concept of mind, how does Gilbert Ryle illustrate the category mistake inherent in Cartesian
dualism ?

(I) By comparing the mind with a machine

(2) By comparing mental state with a ghost

(3) By comparing the mind with a university

(4) By comparing the mental state with a painting

Options :
1.1
2.2
3.3



4.4

Question Number : 138 Question Id : 53307219109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i~ 31T WEE' H, feee e T g ffed #fe-fe 1 e w87
1) W % oY Wi F G

S | Wt feafd o qor

T fovafareer o 1Y WiEqeh i ol hich

4) T UM F Wy aeie fefa 9 o e

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307219110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Ethical theor yis mnslcloselv associated with the idea that humans have a mmalwsponmblhlv
to respect the natural world and maintain ecolnglcal balance due to an ‘inter connectedness with
all lwm&1 bemgs ?

(1) Biocentrism
2)  Consequentialism

(
(3) Land Ethics
&

4) Anthropommrphism

Options:
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307219110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3 91 Sfeeren g 39 foram & weiferr frerem & dag & fr 9t et it & e o i Harg
1 T W 9 e v 3 e ol wieifa de o e o Ao e 8
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Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307219111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A physician s treating a terminally ill patient who expressed a desire to discontinue life-supporting
system. Which ethical principle is most directly in conflict with principle of autonomy in this
case ?

(1) Beneficence

(2)  Justice

(3)  Non-Maleficence
(4)  Confidentiality

Options:
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307219111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 2
Sub-Section Id : 533072747
Question Shuffling Allowed : No

Question Id : 53307219112 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the passage carefully and answer the questions :

Knowledge is of two kinds : anubhava, reached through evidence, which may be both true (when it is
prami) and false, but which is always something new, previously unattained; and smrti or memory-
knowledge which, however, is not something new. In the persisting cognition of the same object, there
is a single unchanging presentation illuminated by. ie., subsumed under the form of the self. Such a
persisting determinate cognition (as distinct from the presentation) ceases, however, when it is contradicted
by another cognition standing on stronger evidence. The theory of the persistence of the presentation
fits in with the peculiar realism of Vedinta which demands an intuition-continuum for every grade of
abstract thought. The necessary thought of the identity between a presentation and an idea must have
its basis in the continuity of the presentation in some real medium. Besides, as knowledge is viewed in
Vedinta from the standpoint of the self as spontaneity and not from the empirical standpoint, the logical
activity of the self (and not the presentation) is taken to determine how long a mode of cognition can be
said to endure as one and the same; it is said to cease only when contradicted.

(Studies i Philosophy, K.C. Bhattacharya)

Sub questions

Question Number : 141 Question Id : 53307219113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the two characteristics of Pramd’ as discussed by K. C. Bhattacharya mainly based on
Vedanta Paribhasa ?

(I) Something new and practical success

2)  Something new and non-contradictory

3

(
(
(4

) Something believed and something known by Sabda
) Practical success and sense-object contact

Options :
1.1



2.2
3.3
4.4

Question Number : 142 Question Id : 53307219114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Is memory or smrti considered as part of ‘Pramd’ by K. C. Bhattacharya following Vednta
Paribhasa ?

(1)  Yes, itis, because knowledge from memory also leads to successful activity.

2
(
(

No, itis not part of Prami, since knowledge based on memory or smyti is not something new.

a2

4

)
) Vedanta Paribhasa does not talk about memory.
)

Sometimes memory is part of Prama; and sometimes it is not.

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307219115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is the author of the text Vedanta Paribhisa ?
(1) Annam Bhatta
) Dharmarija Advarindra
(3) Kesava Misra
)

Madhusiidana Saraswati

Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307219116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



'Dhardodhike-Jiana’ or continuous knowledge is acceptable under the definition of Prama,
because :

(1)  Thereisan intuition-continuum for every thought, which is demanded by realism of Vedinta.
(2)  Continuous knowledge always presents something new.
(3

(4

) Dharavahika-]iana” is never contradicted.
) Continuous knowledge is based on memory.

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307219117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Vedanta Paribhasa defines Prama as :
(I) Indriyartha-sannikarsotpannam
(2)  Artha kriya karitvam

(3) Smrti-vyavrttam-anadhigata-abadhitartha-visayaka-jiinatvam
(4)

Tadvati—tatprakﬁrakah anubhavah

Options :
1.1
2.2
3.3
4.4

Question Id : 53307219112 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 53307219113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 142 Question Id : 53307219114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307219115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 53307219116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 145 Question Id : 53307219117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 533072748
Question Shuffling Allowed : No

Question Id : 53307219118 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the passage carefully and answer the questions :

“The law of nature that everything that happens has a cause, that since the causality of this cause, i.e.,
the action, precedes in time and in respect of an effect that has arisen cannot have been always but must
have happened, and so must also have had its cause among appearances, through which it is determined,
and consequently that all occurrences are empirically determined in a natural order - this law, through
which alone appearances can first constitute one nature and furnish objects of one experience, is a law
of the understanding, from which under no pretext can any departure de allowed or any appearance be
exempted; because otherwise one would put this appearance outsice of all possible experience, thereby
distinguishing it from all objects of possible experience and making it into a mere thought-entity and a
figment of the brain [...] If we would give in to the deception of transcendental realism, then neither
nature nor freedom would be left.” (Kant)

Sub questions

Question Number : 146 Question Id : 53307219119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Book/Text of Kant does this passage belong to ?
(1) Prolegomena to Any Future Metaphysics

(2) Critique of Pure Reason

(3) Groundwork of Metaphysics of Morals

(4)

Critique of Practical Reason



Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307219120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What kind of problem has been discussed in the passage ?
(1) Deterministic Ethics
(2) Transcendental Problem

(

3) Nature as the Ultimate Reality
(4) Causation as a Methematical Problem

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307219121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is being clarified in the passage by the author ?

(I)  The cosmological idea of a freedom and the universal natural necessity.
(2)  The cosmological idea of divine creation.

(3

) The necessity of speculative philosophy.
(4) The necessity of intuitive theology.

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307219122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What, according to the author, is a law of the understanding ?

(1) Philosophy depends as speculation

(2) Human Reason is an appearance

(3)  All objects of possible experience are mere thought-entities
(4)  All occurances are empirically determined in a natural order

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307219123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The expression - “the causality of this cause” is referred to :
(1) Predicton

(2) Action

(3) Condition

(4) Sensation

Options :
1.1
2.2
3.3
4.4

Question Id : 53307219118 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 53307219119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307219120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1
2.2



3.3
4.4

Question Number : 148 Question Id : 53307219121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 149 Question Id : 53307219122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307219123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4





